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Question Number : 1 Question Id : 9277593816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

56:67::42:7
Options :

1. ® 47

2. % 60

3.9 48

4. % 76



Question Number : 1 Question Id : 9277593816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g
56:67::42:7

Options :

1. % 47

2. % 60

3. 48

4.% 76

Question Number : 2 Question Id : 9277593817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * 36-49
2. % 64-81
3. % 16-25
4.+ 49 - 81

Question Number : 2 Question Id : 9277593817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T faweutl & @ o T (I aios I 90 § | BTai(eh, U fadbed o - &1 R 151 o | 34 fddhed BT 98- $H< ol 39 U e 5|
Options :

1. %® 36 -49

2. % 64 -81

3. % 16-25

4.+ 49 - 81



Question Number : 3 Question Id : 9277593818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ ISRO
2. % NASA
3. ¥ WHO
4. % JAXA

Question Number : 3 Question Id : 9277593818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U M3 aRich ¥ 9HH 8 | gTallich, T [dahed o A &1 IRE -Tal 6| 3% [Adhed HI Ia- B off 30 J 3T |
Options :

1. % ISRO

2. % NASA

3. ¥ WHO

4, % JAXA

Question Number : 4 Question Id : 9277593819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

JKS, EPN, ZUI,
Options :
1. ¥ UZD
2. % VZD
3. % UZC
4. % UAD



Question Number : 4 Question Id : 9277593819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad &R e o Q1

JKS, EPN, ZUI,
Options :
1. ¥ UZD
2. % VZD
3. % UZC
4. % UAD

Question Number : 5 Question Id : 9277593820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the given series.

AC, BE, EL JO, QV
Options :

1. ®= EI

2. % JO

3.9 QV

4. % BE

Question Number : 5 Question Id : 9277593820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRIEEICNIR: RIGG R IR E 2|

AC, BE, EL, JO, QV
Options :

1. # EI

2. % JO

3.9 QV




4. % BE

Question Number : 6 Question Id : 9277593821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement:
T<M=R>K>0;U>0
Conclusions:

I.LR>U

I.R>T

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ® Either conclusion I or II follow
4. ¥ None follows

Question Number : 6 Question Id : 9277593821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy T U Y four mar €, forges a1g 3 s 1 8iR 11 fAT T § 1 3ueh! 37 Sy &1 9 AT 5, U 8 g8 IrHad: 1d a9 fid
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DHY:

T<M=R>K>0;U>0

fsep:

LR>U

ILR>T

Options :

1. % Had (sHY | 38R0 HRT §

2. % Had BN 11 IR0 Hal §

3. % gy el fsws 1 37 11 SRR el §
4. ¥ PIg TR a! Bl




Question Number : 7 Question Id : 9277593822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among seven persons P, Q, R, S, T, U and V, who are of different ages, V is younger than only S and T. U is younger to Q and older than P. T is
not the eldest and R is the youngest. Who is the fourth oldest?

Options :
1.¥Q
2.% U
3. % R
4. % S

Question Number : 7 Question Id : 9277593822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IId AfGadi P, Q, R, S, T, U 3R vV H I, S 31 3eHT-3ETT ], VHIA S IR TA BT R U, QA BT g AR P A TS g1 T Y &1 Tg!
g 3R R G BleT g | YT Ga& T B 82

Options :

1.¥Q

2. % U

3. % R

4. % 3

Question Number : 8 Question Id : 9277593823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following are the conditions for selecting Marketing Manager for a PSU.

The candidate must:

a) Had done MBA in Marketing with at least 65% marks.

b) Not be more than 28 years old and less than 24 years old as on 1.12.2021.
c¢) Have fluency in English.

d) Be in a position to pay Rs. 1,00,000/- as deposit to the company.

e) have an experience of at least 3 years.



In the case of candidate who fulfils all the conditions

except I) at (a) above, he should be referred to Managing Director of the company.

1) At (d) and/or (e) above, he should be referred to Chairman of the company.

Now read the information provided in the question and mark your answer accordingly.

Utkarsh who was born at 1-04-1995 is a Post-Graduate (MBA) in Marketing with 70% marks. He is not fluent in English. He has a work
experience of 4 years. He can pay the required deposit.

Options :

1. # The candidate is selected.

2. ¥ The candidate is not selected.

3. # The candidate is referred to Managing Director.

4. * The candidate is referred to
chairman.

Question Number : 8 Question Id : 9277593823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IufiedR &1 9o fhar T |

2. ¢ IiGaR &1 994 8! fhar T B |

3. % JUIGAR &I gy Fe=d &1 deiid fear mn gl
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Question Number : 9 Question Id : 9277593824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following information to answer the given question. Following are the criteria for selecting Mathematics teacher by a school. The
candidate:

1. Must have done post graduation in Mathematics with at least 70% marks.

2. Should have good aptitude skills with fluency in English.

3. Must be between 23 to 27 years of age.

4. Must have at least 2 years of related work experience.

In the case of Candidate who fulfils all conditions except-

(a) At (1) above, but has at least 4 years of experience in Mathematics, his/her case to be referred to HOD.

(b) At (4) above , but has done post graduation in Mathematics with at least 80% marks, his/her case to be referred to Principal.

In question below, details of a candidate are provided followed by a question and 4 courses of action. Select the course of action that applies to
the person's candidature.

Anu has done post graduation in mathematics. She scored 65% marks in her post graduation. She has strong aptitude skills with fluency in
English. She is 25 years old. She has only one year of work experience.

Options :

1. * She will be selected.

2. ¥ She will not be selected.

3. * She will be referred to HOD.

4. * She will be referred to Principal.

Question Number : 9 Question Id : 9277593824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IpT g9 fobar STE|

2. ¢ ITH1 994 g fobar S|

3. % I HOD P! Yefd forar S|

4, % I U] oI i foar smem|

Question Number : 10 Question Id : 9277593825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the given series:

8,129,210,259,284,  ,294
Options :
1. % 290
2. % 291
3. % 292
4.+ 293

Question Number : 10 Question Id : 9277593825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31 TS I H qud e I B

8, 129, 210, 259, 284, ,294

Options :

1. * 290

2. % 291




3. % 292
4.4 293

Question Number : 11 Question Id : 9277593826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following question is based on the five three-digit numbers given below.
295 567 876 456 345
If in each number second and third digits are interchanged, then how many even numbers are there?

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 11 Question Id : 9277593826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafafad uy = Rw v ui -3 T iR seid g
295 567 876 456 345

e T T B gk 3R TR 8ich 1 3109 H gad a1 S, a fhd=i 98 Iy giif
Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 12 Question Id : 9277593827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many pairs of letters are there in the word "PRESIDENT" that have the same number of letters between them in the word in forwarding
directions, as they have in the English alphabetical series?

Options :



1. # One
2. % Two
3. # Three

4. % Four

Question Number : 12 Question Id : 9277593827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;r%c{"PRESIDENT"ﬁa&rﬁﬁﬂﬁwm%mﬁ&ﬁwmﬂaﬁﬁwm&r&rﬁﬁﬁwmé%%ﬁ&ﬁﬁﬁaﬂmm
o

Options :

1. # U

2.3

3. % diF

4. % R

Question Number : 13 Question Id : 9277593828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A's sister is the wife of B. B is C's brother. B's father is D. E is B's paternal grandmother. F is E's daughter-in-law. G is C's brother's son. How is
G related to A?

Options :
1. #* Son
2. * Brother
3. # Father

4. % Sister's son

Question Number : 13 Question Id : 9277593828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP TGIB B UM GIB, CH USRI D, BHIAAMZIE, BHICRI I FLEPITERIG, CFH S BITARI G, A T HY e g2

Options :



1. % O
2. % U
3. % U
4. ¢ A DI ST

Question Number : 14 Question Id : 9277593829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a circular seating arrangement, Sunil is facing outside. Esha is sitting 2nd to the right of Sunil and opposite to Farhan. Omkar and Vikram are
immediate neighbours. If six peoples are sitting in the arrangement then, what is the position of Jitin with respect to Farhan, who is facing inside?

Options :

1. #¥ 2nd to the right
2. # Immediate left

3. # Immediate right
4. % 2nd to the left

Question Number : 14 Question Id : 9277593829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TMATHR 96 Pt AT H, e BT 7 dTeX B 3R g1 M YA & &8 I 23 M W § 3R BHREH & I Bt 3R 981 g1 HABR
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Options :

1. % ¥ 3R I 2%
2. % BHaUH
3. % 3lH quH
4. ¥ U 2]

Question Number : 15 Question Id : 9277593830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill a tank in 15 minutes and pipe B can empty the same full tank in 6 minutes. If three-fifth of the tank is full and both the pipes are
opened simultaneously, then in how many minutes will the tank be completely filled or emptied?



Options :

1. ¥ Empty in 6 minutes
2. % Empty in 9 minutes
3. # Fill in 6 minutes

4. % Empty in 15 minutes

Question Number : 15 Question Id : 9277593830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TI3Y A U <1 Bl 15 FFe & 1R Tohdl § SR UTSU B 3! ! ®l 6 e & W1l R Tavdl ¢ | Al Tl &1 di--Uradl YT HRT g3 8 3R
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Options :

1. ¢ 6 BTe 9 @rat

2. % o fie # @it

3. % ¢ e o wR St
4. % 15 e 9 @rat

Question Number : 16 Question Id : 9277593831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



2.¢

Question Number : 16 Question Id : 9277593831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A TS IR 3T H A, I 3P Tl T Ig B oG uy 3pfa B afzRd g

Options :

2.¥



Question Number : 17 Question Id : 9277593832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :



Question Number : 17 Question Id : 9277593832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T imedl # @ & T RfYd a5 A U &1 8TlTP, T faped 3 diF o1 oRE el ¢ | 39 f[dhcd o1 I8 &Y off 317 ¥ 3T 5

Options :



Question Number : 18 Question Id : 9277593833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the correct mirror image of the given figure?



Options :

3. %



Question Number : 18 Question Id : 9277593833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Teh SUUT Y AT AB TR T 91T §, Y STR 3MTpfa & J B Y &} 18 3pfa bt et guor 33 82

Options :



Question Number : 19 Question Id : 9277593834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, the triangle represents 'lawyers', the circle represents 'Indians', the square represents 'Doctors' and the rectangle

represents 'teachers'.
Which letter or set of letters represents the teachers who are neither Indians nor lawyers?



Options :

1. % A

2. ¥ EandF
3. % C

4. % 1

Question Number : 19 Question Id : 9277593834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad a7 o ¥, Bys asiar &1 ufafAfia $Rd1 8, 39 YR &1 ufafAfid oal 8, 3 ffeds! &1 ufaffta sar g ¢k
3mad et o1 ufaffea exar g
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Options :
1. % A



2. ¥ E3RF
3. % C
4. % 1

Question Number : 20 Question Id : 9277593835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cube is made by folding the given sheet. In the cube so formed, which of the following pairs of symbols will be on opposite sides?

Options :

1. ¥ %and $
2. % #and *

3. ®* @and %
4. % &and$

Question Number : 20 Question Id : 9277593835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 11 e B HigH U7 TR T 81 39 UPR 54 v §, gl & Fufafad & 3 o 4 o) faudia fa=m 7 grfl




Options :

1. % 3R $
2. % # 3R+

3. % @ 3R %
4. % &3NS

Group Number :
Group Id :

Group Maximum Duration :
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Break time :

Group Marks :
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759112
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277593836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the following options which day is celebrated on July 1st every year?
Options :

1. # World Civil Defence Day

2. % World Milk Day

3. % National Chartered Accountant Day

4. # Labour Day

Question Number : 21 Question Id : 9277593836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed fawmedl & 9 Ude av | Jams & & A1 feay J-/T ST 82
Options :

1. % fay TR grem fdaw

2. % fay gy faaq

3. ¢ PR A1ES Thdee faay

4. % Ao feaq

Question Number : 22 Question Id : 9277593837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently International Day of Yoga was celebrated on 21st June 2021 this year, what was the theme?
Options :

1. ¥ Yoga for well-being

2. % Climate Action

3. % Yoga for Peace

4. # Yoga for Health

Question Number : 22 Question Id : 9277593837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1o 81 1 39 N 21 S 2021 1 RIS INT G HHAT 711, SHbT [ <Rt U2
Options :

1. ¥ B & g gn

2. % S[AAR] HRATS

3. % gifd & few A

4. % WY & (T AN

Question Number : 23 Question Id : 9277593838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total numbers of Vedas are:

Options :

1. # Five

2. ¥ Four

3. ® Three

4. % Seven

Question Number : 23 Question Id : 9277593838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9el B I e
Options :
1. % U
2. ¥ dR
3. % dF
4. % Yld

Question Number : 24 Question Id : 9277593839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anguttara Nikaya related to:

Options :

1. ¥ Buddhist

2. # Jainism

3. # Hinduism

4. % Christianity

Question Number : 24 Question Id : 9277593839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS Ay ¥ Tefia §:
Options :

1. ¥ oG

Question Number : 25 Question Id : 9277593840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Twelve members are nominated in the Rajya Sabha by whom?



Options :

1. # Prime Minister

2. # Union Minister

3. % Speaker of the Lok Sabha
4. ¥ President

Question Number : 25 Question Id : 9277593840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhaTch GRT ISTHT H IRE J& A1 [T 1 62
Options :

1. % JYTHAT

2. % g HAl

3. % SIHHT D 3ehe

4, & AHYE

Question Number : 26 Question Id : 9277593841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution is related to the election of the President?
Options :

1. # Article 23

2. ¥ Article 55

3. % Article 45

4. % Article 51

Question Number : 26 Question Id : 9277593841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR TAYT BT B AT S5 AFUfA & g1 & Taifdrd 82

Options :



1. % 3F®q 23
2. ¥ 3IRG 55
3. % TG 45
4. % TG 51

Question Number : 27 Question Id : 9277593842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ranji Trophy is related to which sports?
Options :

1. ¥ Cricket

2. % Chess

3. % Kabbadi

4. % Volleyball

Question Number : 27 Question Id : 9277593842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI ¢ioh! for Wt 9§ Haferd g2
Options :

1. ¢ fobabe

2. % YA

3. % Hagl

4. % qrefiere

Question Number : 28 Question Id : 9277593843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a T20 cricket World Cup, the two teams have a single innings each, which is restricted to a maximum of how many overs?
Options :

1. #® 30



2. % 80
3. % 40
4.9 20

Question Number : 28 Question Id : 9277593843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T20 fohohe fay HU H, SIS B Uh-Th URI &, S SHferad forae SfiaRl o S giit 82
Options :

1. * 30

2. % 80

3. % 40

4. 20

Question Number : 29 Question Id : 9277593844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunil Das, Amrita Sher-Gil, and Nandlal Bose are:
Options :

1. ¥ Painters

2. # C(Classical singers

3. % Actors

4. % Scientists

Question Number : 29 Question Id : 9277593844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A T, 3t RRAT 3R Feraret §1 &
Options :

1. ¢ EeRI

2. % YR TAH



3. % 3ffAAaraf
4. % QDY

Question Number : 30 Question Id : 9277593845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pablo Picasso was one of the greatest artists of the

Options :

1. # 19th Century
2. % 21st Century
3. % 20th Century
4. # 18th Century

Question Number : 30 Question Id : 9277593845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

grect! foreTl & HEMdH HATDHRI | Y Teb |
Options :

1. % 1997 g}

2. % 219 W

3. ¢ 204 9dl

4. % 189Y et

Question Number : 31 Question Id : 9277593846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karbi Anglong plateau is located in which area or state?
Options :

1. ¥ Assam

2. % Meghalaya

3. # Gujrat



4. * Himachal

Question Number : 31 Question Id : 9277593846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIS ST TSR foret & a1 e § Ry 82
Options :

1.+ 39H

2. % WYy

3. % ToRId

4. % fgArd

Question Number : 32 Question Id : 9277593847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Devprayag is a town in which city?
Options :

1. # Himachal Pradesh

2. ¥ Uttarakhand

3. ¥ Madhya Pradesh

4. % Gujrat

Question Number : 32 Question Id : 9277593847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CIVANT bl R6R &1 U TR 57
Options :

1. % TROmad U™

2. ¥ JTIRIES

3. % G UG

4, % TGRId




Question Number : 33 Question Id : 9277593848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Five-year plan is now replaced with the new year action plan.
Options :

1. ¥ Three

2. % Ten

3. ® Two

4. % One

Question Number : 33 Question Id : 9277593848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugaulg Ao ®I 39 I3 Iy 1 S Ao @ Jad e T g
Options :

1. ¢ A

2. % qY

3.% Q)

4, % U

Question Number : 34 Question Id : 9277593849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of milk has more nourishment?
Options :

1. ¥ Pasteurized milk

2. % Boiled milk

3. #* Cold milk

4. % Unboiled milk

Question Number : 34 Question Id : 9277593849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ford PR & gy H 31fde TIvur g 82
Options :

1. ¢ UIERiphd gy

2. % AT G gY

3. % 381qY

4. % HTQY

Question Number : 35 Question Id : 9277593850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mainly which vitamin protects teeth?
Options :

1. ¥ Vitamin D

2. ® Vitamin B12

3. ® Vitamin B6

4. ®¥ Vitamin E

Question Number : 35 Question Id : 9277593850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O U ¥ B A1 [IeTE aidl &t qR& Bl 82
Options :

1. ¢ faerfid p

2. ® faerfie B12

3. # fqer® T B6

4. % faeTfiA E

Question Number : 36 Question Id : 9277593851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IAU promotes astronomical research. What is the full form of IAU?
Options :

1. ¥ The International Astronomical Union

2. % The Internal Astronomical Union

3. # The Investigation Astronomical Union

4. ¥ The International Astro Union

Question Number : 36 Question Id : 9277593851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU T SR &1 §¢IaT &al g1 IAU &1 gUf Uo &1 82
Options :

1. ¢ T $CARAA MDA AT

2. % T A T HITHD g

3. % g SAWNIRHA T HIHSd g

4. % G SEARAA T g

Question Number : 37 Question Id : 9277593852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Aedes is a genus of "

Options :

1. ¥ Humans

2. % Birds

3. ¥ Mosquitoes
4. % Animals

Question Number : 37 Question Id : 9277593852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS " " U B



Options :
1. % 7w
2. % &l
3. & TR
4. % UY[

Question Number : 38 Question Id : 9277593853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Currently (As August on 2021), how many countries are permanent members of the United Nations Security Council?
Options :

1. # Ten

2. # Fifteen

3. ¥ Twenty

4. ¥ Five

Question Number : 38 Question Id : 9277593853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H (3R 2021 TF), foram =1 gt 19 TRe uRee & Rt vew 82
Options :

1. % cd

2. % Ugg

3. % &9

4. ¥ U™

Question Number : 39 Question Id : 9277593854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book "It's a wonderful life: Roads to happiness"?
Options :



1. # Umberto Eco
2. # Sidney Sheldon
3. % Bill Gates

4. ¥ Ruskin Bond

Question Number : 39 Question Id : 9277593854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I 3 GG A ASH: USH ¢ g TP & a¥d DI 57
Options :

1. % 3ffFcl sl

Question Number : 40 Question Id : 9277593855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the pageant of Miss Universe 20207
Options :

1. ¥ Andrea Meza from Mexico

2. # Zozibini Tunzi from South Africa

3. # Catriona Gray from Bangkok

4. % Toni-Ann Singh from Jamaica

Question Number : 40 Question Id : 9277593855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fh g SRITUS Frasl 2020 o1 USic Sitar
Options :

1. ¢ BfRID! J Ufgar Ael



2. % TI&r 3hienT  SfSiferT ¢oit
3. % dPid J piear
4. % THHTY AT Rig

Arithmetic Ability

Group Number : 3

Group Id : 92775979
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 92775995
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759113
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277593856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Simplify: 1+((2-(5-8)1)-9+2)!

Options :

1. % 0.78

2.90.79

3. % 0.8

4. % 0.77

Question Number : 41 Question Id : 9277593856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TREAPA B: 1+((2-(5-8)1)-9+2)!
Options :

1. * 0.78

2.40.79

3. % 0.8

4. % 0.77

Question Number : 42 Question Id : 9277593857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 5P+Q/2+3R+S/4+2T = 25.1916 then what is the value of P+Q+R+S+T? (The digit P is in unit's place, Q in tenth's place, R is in hundredth's
place, S is in thousandth's place and T in ten thousandth's place.)

Options :

1. % 42334
2. % 52433
3. % 5.4332
4.+ 52343

Question Number : 42 Question Id : 9277593857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i SP+Q/2+3R+S/4+2T = 25.1916 T P+Q+R+S+T BT HH FT 82 (3H P IhTs & VMW ®, Q TER WM W g, R UHSIVH W T, S
TOIRA R W g 3R T & goRdl ™M W g 1)

Options :

1. % 42334

2. % 52433

3. % 54332

4. ¥ 52343

Question Number : 43 Question Id : 9277593858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a/b="7/8 and 7a+14b+10 = 35 then what is the value of a?
Options :

1. ¥ 25/23

2. % 23/25

3. % 20/21

4. % 21/20

Question Number : 43 Question Id : 9277593858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S a/b = 7/8 3R 7at+14b+10 = 35 A a BT AH T 82
Options :

1. ¥ 25/23

2. % 23/25

3. % 20/21

4. % 21/20

Question Number : 44 Question Id : 9277593859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The LCM and HCF of two numbers A and B is 225 and 5. A+B = 70. What is 1/A+1/B?



Options :

1. # 10/225
2. % 11/225
3. % 14/252
4. ¥ 14/225

Question Number : 44 Question Id : 9277593859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& st A 3R B &1 AYqH TS SR AgTH THYAS 225 3R 581 A+B =701 1/A+1/B F1 8?2
Options :

1. % 10/225

2. % 11/225

3. % 14/252

4. 14225

Question Number : 45 Question Id : 9277593860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the smallest number that is when reduced by 11 is divisible by 6, 12, 18 and 20.
Options :

1. % 3240

2. % 3230

3. ¥ 3251

4. % 3250

Question Number : 45 Question Id : 9277593860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 UaY DI T-T Jd B Gl 11 HH B W6, 12, 18 3R 20 F faursa 311
Options :

1. * 3240



2. % 3230
3. ¥ 3251
4. % 3250

Question Number : 46 Question Id : 9277593861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two equations 7x+8z-9y = 5 and 9x-8z+6y = -5. What is x:y?
Options :

1. ¥ 3:16

2. % 163

3. % 16:1

4. % 3:1

Question Number : 46 Question Id : 9277593861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 gHIBHROT 7x+82-9y = 5 3R 9x-82+6y = -5 B | x: y TT 82
Options :

1. ¥ 3:16

2. % 163

3. % 16:1

4. % 3:1

Question Number : 47 Question Id : 9277593862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The monthly income of Rajesh and Rakesh are the in ratio 4:5. Their expenditure are in the ratio of 6:8. They both save Rs 10000 a month. What
are their monthly incomes?

Options :
1. ¥ Rs. 40000, Rs. 50000
2. % Rs. 50000, Rs. 40000



3. ¥ Rs. 80000, Rs. 60000
4. % Rs. 60000, Rs. 80000

Question Number : 47 Question Id : 9277593862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTOIRT SR B BT ARID ST 4:5 P U | § | Sb1 T 6:8 P UM A g | d &I Th AGH H 10000 FUT T & | ST AIRID 31
87

Options :

1. ¥ 40000 U, 50000 ¥UY

2. % 50000 %0, 40000 >UY

3. % 80000 ®UL, 60000 29T

4. % 60000 24T, 80000 >UUY

Question Number : 48 Question Id : 9277593863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of rice has reduced by 20%. After the reduction, Ram is able to buy another Kg of rice. Ram has a budget of Rs.120. What is the
original price?

Options :

1. # 18

2. % 12

3.9 30

4, % 24

Question Number : 48 Question Id : 9277593863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT BT T 20% 4 HH 81 T 8| Held! & ale, IH U 3R Kg AGd /RIS UTd1 g | T 6T Foie 120 $UT BT 8 | Y Yool T 82
Options :

1. % 18

2. % 12



3. 30
4. % 24

Question Number : 49 Question Id : 9277593864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of the sugar is decreased by 11% then how much the consumption should be increased so that the consumption expenditure is not
decreased?

Options :

1. * 12.0%
2.9 12.36%
3. % 11.0%
4. % 13.0%

Question Number : 49 Question Id : 9277593864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A H TR T 11% DI HH DI STl 5 ol JI J [t Ik BT oI AMGY AT STHN &I HH 7 g2
Options :

1. * 12.0%

2.9 12.36%

3. % 11.0%

4. % 13.0%

Question Number : 50 Question Id : 9277593865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 41 numbers is 20. The average of first 20 numbers is 15 and last 20 numbers is 13. What is the 21st number?
Options :

1. % 320

2. % 290

3. % 310



4. % 260

Question Number : 50 Question Id : 9277593865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

41 TATSH BT ST 20 B 1 TUH 20 TSNS BT 37 15 3R Sifad 20 TB3M BT 319 13 § 1 219 = 1 87
Options :

1. # 320

2. % 290

3. % 310

4. ¥ 260

Question Number : 51 Question Id : 9277593866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of the first 13 multiples of 9?
Options :

1. ® 36

2.% 6

3.%3

4. ¥ 63

Question Number : 51 Question Id : 9277593866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 % Ugd 13 TUIh! & ST o1 82
Options :

1. #® 36

2.% 6

3.%3

4. 63



Question Number : 52 Question Id : 9277593867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sells at 11% loss but he measures 88 cm as 1 m. What is the gain or loss percentage?
Options :

1. % 1.0% loss

2. % 1.1% gain

3. % 1.2% loss

4. % 1.14% gain

Question Number : 52 Question Id : 9277593867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AfFT 11% B TR 9=idT & AP I8 88 cm P 1 m & =0 H HIUAT g | ATH 7 g1 fdrd a1 g2
Options :

1. % 1.0% g1

2. % 1.1%dH

3. % 1.2% @I

4. % 1.14% <Y

Question Number : 53 Question Id : 9277593868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man marks 27% profit on the cost price. He gives a 18% discount on the list price. What is the actual gain percentage?
Options :

1. # 4.0%

2.9 4.14%

3. % 5.0%

4. % 4.5%

Question Number : 53 Question Id : 9277593868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS o AT T WR 27% P A1H 3Hfdhd ST 81 98 JIl Jo R 18% P e odl & | IRATdd a1y Hfa=rd 31 g2
Options :

1. ® 4.0%

2. % 4.14%

3. % 5.0%

4. % 4.5%

Question Number : 54 Question Id : 9277593869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram sells furniture. The marked price of one chair was Rs. 24500. He gave a 17% discount to Shyam. After that Shyam bargained and took the
chair at 17800. What is the second discount that Shyam got?

Options :

1. % 12.4%
2. % 12.74%
3. % 12.7%
4. ¥ 12.47%

Question Number : 54 Question Id : 9277593869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H iR ST g | U T o1 3ifdhd Jed 24500 TTT AT | I ATH B 17% B Be ol | 3P dIe A = Flaroh & 3R 17800 F Haf
A ot | GO e 1§ ot AT i et

Options :

1. * 12.4%
2. % 12.74%
3. % 12.7%
4. ¥ 12.47%

Question Number : 55 Question Id : 9277593870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The amount after 2 years of compound interest is Rs. 9592200 and 3 years of compound interest is Rs. 10503459. What is the rate of interest and
sum of money?

Options :

1. # 9.0%, Rs. 8000000
2. % 9.0%, Rs. 9000000
3. % 9.5%, Rs. 9000000
4. % 9.5%, Rs. 8000000

Question Number : 55 Question Id : 9277593870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%?ﬂf% Jehgf TS & §IE Pi AR 9592200 FUT B 3R 3 T8 & Iehgfag &S & &G Pi AR 10503459 TUT & | SATS SR 3R & My
)

Options :

1. % 9.0%, 8000000 Y

2. % 9.0%, 9000000 TUY

3. % 9.5%, 9000000 ¥UY

4. % 9.5%, 8000000 Y

Question Number : 56 Question Id : 9277593871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The capacity of a cylindrical box is 81466 cubic cm. The radius is 23 cm. What is the height of the box?
Options :

1. # 48 cm

2. % 50 cm

3.% 49 cm

4, % 47 cm

Question Number : 56 Question Id : 9277593871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T JTIHR T B AT 81466 cubic cm &1 ST 23 om B 1 TR Bt SHATs T 87
Options :

1. % 48 cm

2. % 50 cm

3. 49 cm

4. % 47 cm

Question Number : 57 Question Id : 9277593872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahesh can do a piece of work in 9 days and Ramesh can do the same work in 18 days. If they both work together, how long will they take to
complete the work?

Options :

1. # 4 days
2. % 5 days
3. ¥ 6 days
4. % 7 days

Question Number : 57 Question Id : 9277593872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U B & 9 I & R Tl § 3R 0 I B D1 18 TG & HR v ¢ 1 TG d 1 T 1Y B HRd &, a1 9 B BT GRT HRA
# fobo1 g o

Options :

1. % 4feq

2. % 5

3. ¢ 6fdA

4. % 714

Question Number : 58 Question Id : 9277593873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks 5/7 of his usual speed and reaches 10 minutes late. Find his usual time.
Options :

1. # 52 mins

2. % 50 mins

3. % 25 mins

4. % 35 mins

Question Number : 58 Question Id : 9277593873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G 37O I 71 577 Tatdl 8 MR 10 e 3 Q ugadr 8| STHT H=I AT J1d B |
Options :

1. % 52 fiFe

2. % 50 fiFe

3. ¢ 25 fiFe

4. % 35 e

Question Number : 59 Question Id : 9277593874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the land cultivation distribution among the crops. If the total cultivation has been 10000 tones. How much is the cultivation
of maize and bajra?



Land distribution for cultivation(in acres)

Options :

1. #® 3665 tonnes

2. % 3664 tonnes

3. ¥ 3666.67 tonnes
4. ® 3667 tonnes

Question Number : 59 Question Id : 9277593874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7% 91 Bl & srd YT 1 Qi & 9o ®I SR 8 | T Fd /il 10000 T B g & | FFDT 3R SToRT 1 [l [l 52




et & frg oy faevor (Tws #)

Options :

1. % 36657¢CH

2. % 3664

3. ¥ 3666.67 ¢4
4. % 3667

Question Number : 60 Question Id : 9277593875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows the year on year production of sugar. In how many years the production of sugar has decreased by more than 10% over the
production in previous year?



700 - 630
587 601
e00 - 520 -

300 431

300 -
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200 -

100 -
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Options :
1. %0
2. %2
3.% 3
4.v 1

Question Number : 60 Question Id : 9277593875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U1 a8 & a8 A1t b IdTGT D! i g | fobda auf & it &1 Iare, s af & SAed & 10% T 31fd & g1 T 22
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Options :
1. %0
2. %2
3.% 3
4.v 1
General English
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Group Id : 92775980
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Question Number : 61 Question Id : 9277593876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If creative spirit of Periclean age be / manifested in the Parthenon, then the Bolshevist era is manifested / through its cubist grimace.
Options :

1. ¥ If creative spirit of Periclean age be

2. % manifested in the Parthenon, then the Bolshevist era is manifested

3. # through its cubist grimace.

4. % No Error

Question Number : 61 Question Id : 9277593876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

If creative spirit of Periclean age be / manifested in the Parthenon, then the Bolshevist era is manifested / through its cubist grimace.
Options :



1. ¥ If creative spirit of Periclean age be

2. ¥ manifested in the Parthenon, then the Bolshevist era is manifested
3. # through its cubist grimace.

4. % No Error

Question Number : 62 Question Id : 9277593877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As Freud once said that, ‘One day, in the / retrospect, the years of struggle will / strike you as the most beautiful.”
Options :

1. ¥ As Freud once said that, ‘One day, in the

2. # retrospect, the years of struggle will

3. # strike you as the most beautiful.”

4. % No Error

Question Number : 62 Question Id : 9277593877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As Freud once said that, ‘One day, in the / retrospect, the years of struggle will / strike you as the most beautiful.”
Options :

1. ¥ As Freud once said that, ‘One day, in the

2. # retrospect, the years of struggle will

3. % strike you as the most beautiful.”

4. # No Error

Question Number : 63 Question Id : 9277593878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Thank you for inviting me but the day has been exhausting, (I will neither watch a movie or go to sleep.)
Options :

1. # I will be neither watching a movie or go to sleep.

2. # [ will either watch a movie nor go to sleep.

3. ¥ [ will either watch a movie or go to sleep.

4. ® No correction required.

Question Number : 63 Question Id : 9277593878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Thank you for inviting me but the day has been exhausting, (I will neither watch a movie or go to sleep.)
Options :

1. ® T will be neither watching a movie or go to sleep.

2. % T will either watch a movie nor go to sleep.

3. ¥ [ will either watch a movie or go to sleep.

4. ® No correction required.

Question Number : 64 Question Id : 9277593879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

A slight warping of the sea bottom in the vicinity of Torres Strait would be (sufficient to join the New Guinea to Australia.)
Options :
1. # sufficient to join the New Guinea to the Australia.

2. % sufficient to join New Guinea to Australia.



3. % sufficient to join New Guinea to the Australia.

4. # No correction required.

Question Number : 64 Question Id : 9277593879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

A slight warping of the sea bottom in the vicinity of Torres Strait would be (sufficient to join the New Guinea to Australia.)
Options :

1. % sufficient to join the New Guinea to the Australia.

2. % sufficient to join New Guinea to Australia.

3. % sufficient to join New Guinea to the Australia.

4. # No correction required.

Question Number : 65 Question Id : 9277593880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

These were the experiences of divinely gifted artists and not
Options :

1. # bigots

2. % charlatans

3. # perceivers

4. ¥ buffoons

Question Number : 65 Question Id : 9277593880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



These were the experiences of divinely gifted artists and not
Options :

1. # bigots

2. ® charlatans

3. % perceivers

4. ¥ buffoons

Question Number : 66 Question Id : 9277593881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

to not respond to the event in our lives is still a response to the events in our lives.

Options :

1. ¥ Choosing
2. # Choose
3. % Chose

4. # Choosed

Question Number : 66 Question Id : 9277593881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

to not respond to the event in our lives is still a response to the events in our lives.
Options :

1. ¥ Choosing

2. % Choose

3. #® Chose

4. # Choosed

Question Number : 67 Question Id : 9277593882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Pit bull is a term used in

P. the United Kingdom the term is used as an abbreviation
Q. the United States for a type of dog

R. while in other countries such as

S. descended from bulldogs and terriers,

of the American Pit Bull Terrier breed.
Options :

1. # RPQS

2. ¥ QSRP

3. ¥ SRQP

4. % PQRS

Question Number : 67 Question Id : 9277593882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Pit bull is a term used in

P. the United Kingdom the term is used as an abbreviation
Q. the United States for a type of dog

R. while in other countries such as

S. descended from bulldogs and terriers,

of the American Pit Bull Terrier breed.



Options :

1. % RPQS
2. ¥ QSRP
3. ¥ SRQP
4. % PQRS

Question Number : 68 Question Id : 9277593883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Adobe Photoshop is a raster graphics editor developed and published by Adobe Inc. for Windows and macOS.
P. Since then, the software has become the industry standard not only in raster graphics editing, but in digital art as a whole.

Q. Photoshop can edit and compose raster images in multiple layers and supports masks, alpha compositing and several colour models including
RGB, CMYK, CIELAB, spot colour, and duotone.

R. It was originally created in 1988 by Thomas and John Knoll.

nn

S. The software's name has thus become a generic trademark, leading to its usage as a verb (e.g. "to photoshop an image", "photoshopping", and
"photoshop contest") although Adobe discourages such use.

Photoshop uses its own PSD and PSB file formats to support these features.
Options :

1. ¥ PSQR

2. ¥ RPSQ

3. % SPRQ

4. % QPRS

Question Number : 68 Question Id : 9277593883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a



paragraph.
Adobe Photoshop is a raster graphics editor developed and published by Adobe Inc. for Windows and macOS.
P. Since then, the software has become the industry standard not only in raster graphics editing, but in digital art as a whole.

Q. Photoshop can edit and compose raster images in multiple layers and supports masks, alpha compositing and several colour models including
RGB, CMYK, CIELAB, spot colour, and duotone.

R. It was originally created in 1988 by Thomas and John Knoll.

nmn

S. The software's name has thus become a generic trademark, leading to its usage as a verb (e.g. "to photoshop an image", "photoshopping", and
"photoshop contest") although Adobe discourages such use.

Photoshop uses its own PSD and PSB file formats to support these features.
Options :

1. % PSQR

2. % RPSQ

3. ¥ SPRQ

4. % QPRS

Question Number : 69 Question Id : 9277593884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. ¥ PLAYWRITE

2. ¥ MILLENNIUM

3. # ZUCCHINI

4. % COLONEL

Question Number : 69 Question Id : 9277593884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.



Options :

1. ¥ PLAYWRITE
2. % MILLENNIUM
3. % ZUCCHINI

4. % COLONEL

Question Number : 70 Question Id : 9277593885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

CANONIZATION
Options :

1. % VETO

2. % COMPARISON
3. ¥ RECOGNITION
4. % MOBILIZATION

Question Number : 70 Question Id : 9277593885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

CANONIZATION
Options :

1. ¥ VETO

2. % COMPARISON
3. % RECOGNITION
4. % MOBILIZATION

Question Number : 71 Question Id : 9277593886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below.

ETHEREAL
Options :

1. ¥ AIRY

2. % INDELICATE
3. ¥ SUBSTANTIAL
4. % UNREAL

Question Number : 71 Question Id : 9277593886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

ETHEREAL
Options :

1. ¥ AIRY

2. % INDELICATE
3. % SUBSTANTIAL
4, % UNREAL

Question Number : 72 Question Id : 9277593887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

GLEAMING
Options :

1. ¥ FLASHING
2. ¥ GLOOMY

3. ¥ GOLDEN

4. ¥ GLITTERING



Question Number : 72 Question Id : 9277593887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

GLEAMING
Options :

1. #* FLASHING
2. ¥ GLOOMY

3. ¥ GOLDEN

4. ¥ GLITTERING

Question Number : 73 Question Id : 9277593888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Tannery

Options :

1. # A place where grains are stored.

2. # A place where leather products are made.

3. % A large gathering of people of a particular type.

4. ¥ A place where animal hides are treated.

Question Number : 73 Question Id : 9277593888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Tannery
Options :
1. # A place where grains are stored.

2. % A place where leather products are made.



3. % A large gathering of people of a particular type.

4. ¥ A place where animal hides are treated.

Question Number : 74 Question Id : 9277593889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fuddy Duddy

Options :

1. # Someone who has a funny personality.
2. ¥ An old fashioned person.

3. % Someone who is extremely audacious.

4. % Someone who is going to be a father soon.

Question Number : 74 Question Id : 9277593889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fuddy Duddy

Options :

1. ® Someone who has a funny personality.
2. % An old fashioned person.

3. # Someone who is extremely audacious.

4. ® Someone who is going to be a father soon.

Question Number : 75 Question Id : 9277593890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Still waters run deep.



Options :

1. # In time you will find a solution.

2. ¥ Introverts have a side to them that they keep hidden.

3. % A child adopts characteristics or behaviours from their parents.

4. ¥ Avoid making mistakes and bad experiences over again.

Question Number : 75 Question Id : 9277593890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

Still waters run deep.

Options :

1. # In time you will find a solution.

2. ¥ Introverts have a side to them that they keep hidden.

3. % A child adopts characteristics or behaviours from their parents.

4. # Avoid making mistakes and bad experiences over again.

Sub-Section Number : 2
Sub-Section Id : 927759115
Question Shuffling Allowed : Yes

Question Id : 9277593891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and legends, such as the Labours of Hercules, the
Argonautica and the Iliad. They were a group of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised their daughters, either killing their sons or returning
them to their fathers, with whom they would only socialize briefly in order to reproduce. Courageous and fiercely independent, the Amazons,
commanded by their queen, regularly undertook extensive military expeditions into the far corners of the world, from Scythia to Thrace, Asia
Minor and the Aegean Islands, reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated with the foundation
of temples and the establishment of numerous ancient cities like Ephesos, Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.



The texts of the original myths envisioned the homeland of the Amazons at the periphery of the then known world. Various claims to the exact
place ranged from provinces in Asia Minor (Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as the independent Amazon kingdom where the
Amazon queen resided at her capital Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of countless burial
sites of female warriors, including royalty, in the Eurasian Steppes prove that the horse cultures of Scythian, Sarmatian, Hittite and other women
have inspired and fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female Scythian warriors, armed and in
golden headdresses, was found near Russia's Voronezh.

Sub questions

Question Number : 76 Question Id : 9277593892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. On the banks of the Thermodon river, Amazon queen resided at her capital Themiscyra.
B. The Scythian warriors are a myth.

C. The Amazons had a matriarchal society.
Options :

1. ¥ Only A is correct.

2. % Band C are correct.

3. # B is correct.

4. % All are correct.

Question Number : 77 Question Id : 9277593893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According the above passage, which of the following is not a skill of the women warriors mentioned in the passage?
Options :

1. ¥ Archery

2. ¥ Vagabond

3. # Horse Riding

4. % Art of Combat



Question Number : 78 Question Id : 9277593894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :

1. # Greek Mythology

2. % Aegean Island Warriors

3. % The Amazons

4. % Scythian Warriors

Question Number : 79 Question Id : 9277593895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, which of the following is not an ancient city developed by the subject of the passage?
Options :

1. # Ephesos

2. % Pygela

3. % Cyme

4. ¥ Thermodon

Question Number : 80 Question Id : 9277593896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According the above passage, which of the following adjective is incorrect with reference to the women warriors & their society mentioned in the
passage?

Options :

1. ¥ Autonomous

2. ¥ Self-effacing

3. % Courageous

4. ¥ Robust

Question Id : 9277593891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

In Greek mythology, the Amazons are portrayed in a number of ancient epic poems and legends, such as the Labours of Hercules, the
Argonautica and the Iliad. They were a group of female warriors and hunters, who matched men in physical agility and strength, in archery,
riding skills and the arts of combat. Their society was closed for men and they only raised their daughters, either killing their sons or returning
them to their fathers, with whom they would only socialize briefly in order to reproduce. Courageous and fiercely independent, the Amazons,
commanded by their queen, regularly undertook extensive military expeditions into the far corners of the world, from Scythia to Thrace, Asia
Minor and the Aegean Islands, reaching as far as Arabia and Egypt. Besides military raids, the Amazons are also associated with the foundation
of temples and the establishment of numerous ancient cities like Ephesos, Cyme, Smyrna, Sinope, Myrina, Magnesia, Pygela, etc.

The texts of the original myths envisioned the homeland of the Amazons at the periphery of the then known world. Various claims to the exact
place ranged from provinces in Asia Minor (Lycia, Caria etc.) to the steppes around the Black Sea, or even Libya. However, authors most
frequently referred to Pontus in northern Anatolia, on the southern shores of the Black Sea, as the independent Amazon kingdom where the
Amazon queen resided at her capital Themiscyra, on the banks of the Thermodon river. Decades of archaeological discoveries of countless burial
sites of female warriors, including royalty, in the Eurasian Steppes prove that the horse cultures of Scythian, Sarmatian, Hittite and other women
have inspired and fundamentally defined the Amazon myth. In 2019, a grave with multiple generations of female Scythian warriors, armed and in
golden headdresses, was found near Russia's Voronezh.

Sub questions

Question Number : 76 Question Id : 9277593892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three assertions are given below (A, B & C) on the basis of your understanding of the passage, which one of the options is correct?

A. On the banks of the Thermodon river, Amazon queen resided at her capital Themiscyra.
B. The Scythian warriors are a myth.

C. The Amazons had a matriarchal society.
Options :

1. ¥ Only A is correct.

2. % Band C are correct.

3. % B is correct.

4. % All are correct.



Question Number : 77 Question Id : 9277593893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According the above passage, which of the following is not a skill of the women warriors mentioned in the passage?
Options :

1. % Archery

2. % Vagabond

3. * Horse Riding

4. % Art of Combat

Question Number : 78 Question Id : 9277593894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, select the most appropriate heading for the same.
Options :

1. # Greek Mythology

2. % Aegean Island Warriors

3. % The Amazons

4. % Scythian Warriors

Question Number : 79 Question Id : 9277593895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of your reading of the above passage, which of the following is not an ancient city developed by the subject of the passage?
Options :

1. # Ephesos

2. % Pygela

3. % Cyme

4. ¥ Thermodon

Question Number : 80 Question Id : 9277593896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According the above passage, which of the following adjective is incorrect with reference to the women warriors & their society mentioned in the
passage?

Options :

1. * Autonomous

2. ¥ Self-effacing

3. % Courageous

4. % Robust
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277593897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafad vy & IR ool § @ 39 fah ey &1 7= B3 S fed 71U e &1 I T e B |
fRraren

Options :
1. % R[dc]
2. % Qi
3. % fR@
4. ¢ fRrare™

Question Number : 81 Question Id : 9277593897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffad uy & TR el # § 39 ey o1 997 B3 S el U Wea &1 T T Vee © | Rraren
Options :

1. * Rl

2. % Xt

3. % fR@

4. ¢ fRrarery

Question Number : 82 Question Id : 9277593898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR ool 7 T 39 fad ey &1 7 oY off fad 7T Wee T TEt daHd Teg B |
e

Options :

1. ¢ diar




2. % QI
3. % gaff
4. % 3R®H

Question Number : 82 Question Id : 9277593898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR el 7 @ 39 ey &1 90 &3 oY 33 TN Weg 1 g1 daHd Usg g | e
Options :

1. ¢ g

2. % di&dl

3. % gaff

4, % 3Rh

Question Number : 83 Question Id : 9277593899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad Uy & IR fowedl & T 39 fowey &1 99 &3 I f38 7T TfY - fa=de Weg &1 Uel IfY &1 fased 71 |
SC+ 49

Options :

1. % YHY
2. ¥ YUOE
3. % Yeq@
4. % YdH9

Question Number : 83 Question Id : 9277593899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed g o aR fadwel O 9 39 fadhed &1 9= o1 S fad U iy - fawse eg &1 et A &1 fadbeu 31 | v + g9

Options :




1. % T
2. ¥ YU
3. % YcHY9
4. % Ydq9

Question Number : 84 Question Id : 9277593900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFalied Uy & aR fowedl & O 39 fadwey &1 909 &< 1 13 7T i Wreg o1 g iiY-fawde 2re 1 fadweq 71 |
SUSSICE]

Options :

1. % ST + Sffaq
2. # Sd4q

3. % S7G + St
4. ¥ ST + Sitad

Question Number : 84 Question Id : 9277593900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafofed vy # =R fadedl H 9 I fadhed o1 99+ &3 S {33 71U 3fYy Weq 1 e AfY-fawse 2eg &1 fdebed g | SHTiia
Options :

1. % ST+ Sita

2. % Sd+q

3. % STG + offa

4. & ST + Sita

Question Number : 85 Question Id : 9277593901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & R fomedl O T 39 fadwed &1 99+ &< STl aTei=l & ot W U sq &1 gl fddbed 71|




Sl Hief 4G -
Options :
1. % HwiR
2. % YR
3. ¥ qHY
4. % Hifcre®

Question Number : 85 Question Id : 9277593901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy & AR fomedl O T 39 fadwed &1 90+ &< ST aTei=l & ot TR Uh sq &1 gl fddbed 81 | ST Higf dle -
Options :

1. % Hrap=m

2. % YR

3. Y
4. % M

Question Number : 86 Question Id : 9277593902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied v o TR fadwenl O 9 39 [qwed &1 70 &1 S faU T e - &1 9g! 3 arell fawed 9 |
3y - 3y

Options :

1. % fa=mE gol

2. Y R, FEIEH

3. % Gobl T ,GIeNl

4. % d[ §-Idc

Question Number : 86 Question Id : 9277593902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafafad Uy ¥ aR fowed! & T 39 f[dwed &1 999 &3 ol faU T8 Wsg -g &1 g 31 ara faded g1 | 3y - 31y
Options :

1. % foRME gol

2. ¢ R0, g

3. % Toh1 g3 algXHl

4. % W[ §q1dc

Question Number : 87 Question Id : 9277593903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed vy & ,aR fas el 4 9 39 fdded &1 994 1 Nl Y[ Usd DI ol f[dbed 7 |
Options :

1. * 3RO

2. % &g

3. ¢ I

4, % JgIdl

Question Number : 87 Question Id : 9277593903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed vy &, 9R fodwedl 7 9 39 fddwed &1 99 & o1l IS Usd BT Tal f[abed 8 |
Options :

1. % AT

2. % HI&lqA

3. ¢ I

4. % dgldl

Question Number : 88 Question Id : 9277593904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafead uy & TR el 7 T 39 fad ey &1 7 oY off U U Weg &1 FAmRi Weg 76T 7 |
SEIRG

Options :
1. % AT
2. % gIIdTd
3. % QR
4. 1A

Question Number : 88 Question Id : 9277593904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pofifed uy 8§ aR el & O 39 fAded o1 99 &3 S 13U 70 Ueg &1 S geg 48T 8 | deiad
Options :

1. % 3d¥

2. % glcldrdd

3. %GR

4. ¢ 1A

Question Number : 89 Question Id : 9277593905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & aR fowdl 7 @ 39 fawed &1 9g &3 5 AT 77U a1ag & 1 Ve &1 Ta! fAwe 3 |
gt H ey forar g, O g3 34 3fa=d iy |

Options :

1. % GTHI gdHH BT
2. % FiTY YdbTal

3. ¥ BdodHG HadTd
4. % g Yiq&q BT




Question Number : 89 Question Id : 9277593905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffea oy & R fawed! & 9 39 f9aed &1 997 &< off faU T4 a1 & &1at Ve &1 el fadbed © | act #4 ey forar gian, @ g9 s
3(aRY fHyefd |

Options :

1. % QN I4HH B

2. % iy YdobTa

3. ¢ BdodHG HABTd

4. % G Y& BT

Question Number : 90 Question Id : 9277593906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea uy & TR fowedl § T I faswey &1 999 &% ©fl fou U areg & 9 o1 Ual fAweu 7 |
T Fgd o9 SISl AT 4T H} T 7 311 9ahT |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 9gad At

2. R Al

3. faf3yd o

4. YUY diddh dIe]

Question Number : 90 Question Id : 9277593906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawedl § O 39 fadmed &1 9a &3 off fU U a1 & Ue &1 el [adhed § | 0 9gd dv araT o1 7T off T = 3




|
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 9gad At

2. dT”]

3. farf3yd o

4. YUY diddh dIe]

Question Number : 91 Question Id : 9277593907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR ol 7 @ 39 fadey &1 9a &3 oY T U are & Y &1 98! fdweu 3 |
givet St PRI 8T 81 |

Options :

1. ¢ O dI]

2. % fHigd arey

3. % ggad die

4. ® YYddd did]

Question Number : 91 Question Id : 9277593907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRea Uy & TR fawedl § 9 3 fadhed &1 I8 H< off 4T U a/d & UG &1 a! [ded ¢ | gy FHaft PR =18 81 |
Options :

1. ¢ O] dIR

2. % fofyd arem

3. % gYod die

4. % YH dlddh dIR]




Question Number : 92 Question Id : 9277593908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRed Uy & TR fawed § O 3 fadmed &1 9 H1 off fov g gadd a1e &1 9e| [ded § |
Options :

1. % Q7T Hes A 3Mfe +ft 3 €, 4 9 3« SIoiR W

2. % TR Heeb Al 31fe 4t 1E T, A 9T 31l SO S ;

3. % Q71 e A ofifa +ft o &, U 0 3fd FeIR St

4.« T Hed A oG+ oS § , U 0 o SToIR ST |

Question Number : 92 Question Id : 9277593908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy & R faswedl & 9 39 fdded &1 99+ o) Sl TR g gad a1 &1 9gt fdeed © |
Options :

1. % a7 7ee Aar onfe ot omg §, 3 99 319 SR SR

2. % f37aT e 4 ofe +ft o €, T e 31§ JoR ot

3. % f3ar Hew ,4ar e ot 3 §, T 99 3§ SoR ot

4.« 7T A8 ar onfe +ft 3 €, 3 9 319 SO/ S|

Question Number : 93 Question Id : 9277593909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad v & aR faweul # 9 39 fawed &1 7o &L S favm fug god a1 &1 98l faweu 1 |
Options :

1. % T8, S H g OR el 31 g it

2. ¢ T8, HA H TR IR 8] 311 TG |

3. % 5l . Ho H g R e o1 9 |

4. % 98, S H TR TR 8! M Tl



Question Number : 93 Question Id : 9277593909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRed Uy & TR fawedl § O 3 fadhed &1 90 H< off o1 g Jadd a1 &1 ¥e| [dhed 6 |
Options :

1. % g1, el H QR TR T 31 T

2.« T8I, & H TR R gl 31 T |

3. % 8. &d H TR R el 3 T |

4. % g1, ol H RN TR g 31 T

Question Number : 94 Question Id : 9277593910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffad Uy ¥ aR foded! & I 39 faswed &1 99 &3 ol faT 78 GeTar &1 e 3 g1 |

3BTHT AR -
Options :

1. #® QGRMHAG PRI
2. % ORI g oAl
3. ¢ SR AT

4. % QG ARAT

Question Number : 94 Question Id : 9277593910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied vy o TR fadwetl O 9 39 fadhed &1 99 B3 S faU 7T GeTar &1 Tal 312 B | 3511 AR -
Options :

1. % GRIMHG HRAT

2. % @RI I o

3. ¢ IR Y GOl

4. % QG AR




Question Number : 95 Question Id : 9277593911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied Uy & aR fowedl & O 39 fodwey &1 999 &< 1 QU U didbifad &1 ve! 3 81|
Tdh 3, Gl TRe=

Options :

1. ¢ TTe9 § Ui gt 8

2. % fHdt BT B G R & fore fpt ves gad fad o1 GgRT o T |
3. % U AN o Pl Bl sooid - 8

4. % HY g & Y TUR afed HY HY BT 8L 8! Tgdl

Question Number : 95 Question Id : 9277593911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofoiad Uy & IR fowedl § T 39 fadwey &1 w09 &9 St AT U Apifad &1 98! o1 81 | U 3fdhdll, g TRe=
Options :

1. ¢ e ¥ I gt @

2. % fordft T ol AU BRI o fore fondht tes awef safad &1 9eRT o |

3. % U AN S5 Pl dls sooid A 8

4. % HY g & oI GUR afed HY HY BT 8L 8! Tgdl

Sub-Section Number : 2
Sub-Section Id : 927759117
Question Shuffling Allowed : Yes

Question Id : 9277593912 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

i fou 7T T @ earydes ue SR U Y Ut &1 waaH SR I |
JI-IIeR U9 II P! 3MRAR U I HET T 82 39 UH T IR Tgol-I-d ¢ b fay H U7 3R I A7 R Id U1 |@ie &l R W Id




O T HId g3 Bl & | U & ATYPH 3R HFAGRD b THA 82 HGH UR 3D HS-1d] BT AT HA1 USdl 5| 3P 30 Ht 39
Y YRTHR SRR 1Y DTS 01 I3 § | Y9 UHR & a9 3R B Jd gL T & 1D 3R IR B! 37U I8 W bl gl gaT
TSl 81 afe Safad 3Ol §R15 B! fSurdr Ta, afcsh WHR &R AT 8, d STH YUR B TS GHIEHT &1 X<l § | AT HTHa 30 THTG
T 81 81 HHGR 3R SIUIH g3 Bl g | I8 RT3 P! UM b foTE R Y o1 YR ot HRa1 81 516 Uh §R P13 S diatdl g ol 39
UM & 7T 3V Uh-$-915-Td AR o 3 I8 W d¢d 9H & T g 810 S usdr 21 bR it +ff TR ot 3iR 9 aeRi &
S Go™I giRewd g1 o &l § | T T &1 Ul &1 U S I8 ST ¢ | Sia U TR BT dgl F1fad 81 oTdl o | 361 96 TagR
Tad adl & MTeD | T & AMYP d B9 3 IS B! T §971 U 3IId 81 3 g |

Sub questions

Question Number : 96 Question Id : 9277593913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & AN ORI fhges UM B 2
Options :

1. % S HTEA§

2. % §gd M g

3.V WIS P YR & 99 §

4. % AT WA G

Question Number : 97 Question Id : 9277593914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfed 1 GUR 69 TR IHa § 2

Options :

1. ¢ 3T RIS P! A U, I WHR HAT
2. % 3O 18 BT T A

3. % GO YS deHT

4. % & P 318 BT

Question Number : 98 Question Id : 9277593915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS et T 0T T U R ST R 2



Options :

1. % g S & BRI

2. ¢ YS JdgR & HRUI

3. % YR HIH & HRUI

4. % TIP] GTIdl B3 B HRUI

Question Number : 99 Question Id : 9277593916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SiaT 1 faes ea T g 2

Options :

1. # 9S4

2. % Y07

3. % gd1d

4, ¢ W[

Question Number : 100 Question Id : 9277593917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s ¥ forg S e AR

Options :

. % TP

2. ¢ TgHd Sad

3. % ggran

4. % g7 3R e d siaR

Question Id : 9277593912 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

9 fou 7T T @ earyde Ue SR U Y Ul &1 Had STR I
TI-IdgR Ud g9 &l TR dU Y gl 7T 82 59 UY BT IR Tgol-TR ¢ b 3y & 09 3R I Art IR I UM Wi &) YR R Id




O T HId g3 Bl & | U & ATYPH 3R HFAGRD b THA 82 HGH UR 3D HS-1d] BT AT HA1 USdl 5| 3P 30 Ht 39
Y YRTHR SRR 1Y DTS 01 I3 § | Y9 UHR & a9 3R B Jd gL T & 1D 3R IR B! 37U I8 W bl gl gaT
TSl 81 afe Safad 3Ol §R15 B! fSurdr Ta, afcsh WHR &R AT 8, d STH YUR B TS GHIEHT &1 X<l § | AT HTHa 30 THTG
T 81 81 HHGR 3R SIUIH g3 Bl g | I8 RT3 P! UM b foTE R Y o1 YR ot HRa1 81 516 Uh §R P13 S diatdl g ol 39
UM & 7T 3V Uh-$-915-Td AR o 3 I8 W d¢d 9H & T g 810 S usdr 21 bR it +ff TR ot 3iR 9 aeRi &
S Go™I giRewd g1 o &l § | T T &1 Ul &1 U S I8 ST ¢ | Sia U TR BT dgl F1fad 81 oTdl o | 361 96 TagR
Tad adl & MTeD | T & AMYP d B9 3 IS B! T §971 U 3IId 81 3 g |

Sub questions

Question Number : 96 Question Id : 9277593913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & AN ORI fhges UM B 2
Options :

1. % S HTEA§

2. % §gd M g

3.V WIS P YR & 99 §

4. % AT WA G

Question Number : 97 Question Id : 9277593914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfed 1 GUR 69 TR IHa § 2

Options :

1. ¢ 3T RIS P! A U, I WHR HAT
2. % 3O 18 BT T A

3. % GO YS deHT

4. % & P 318 BT

Question Number : 98 Question Id : 9277593915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS et T 0T T U R ST R 2



Options :

1. % g S & BRI

2. ¢ YS JdgR & HRUI

3. % YT HIA B DRI

4. % D! TGl B & HRU]

Question Number : 99 Question Id : 9277593916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Siia &1 fadid 2eg 15 2

Options :

1. % S

2. % Yo

3. % gard

4, ¢ W[

Question Number : 100 Question Id : 9277593917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tase & forg Ifua < iford |
Options :

I % GBI e 2

2.« GIHT Sd

3. % gyl

4. % I IR e & ofR

Disciplinel
Group Number : 6
Group Id : 92775982

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 92775998

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759118

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277593918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x)=-x*+3 , then by tracing it's graph find the derivative ?
Options :

1. -2x

2. % +2x

3. % x

4, % x

Question Number : 101 Question Id : 9277593918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S f(x)=-x>+3 , A TP ATH B! ¢ HPb I I D2
Options :

1. ¥ -2x

2. % +2x

3. % x

4. % x

Question Number : 102 Question Id : 9277593919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If sign of >0, then what can you say about nature of f?
Options :

1. ¥ fis increasing

2. # fis decreasing

3. % fneither increases nor decreasing

4. # fincreases as well as decreasing

Question Number : 102 Question Id : 9277593919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g £>0 BT I8 €, A 31U £ &1 UHid & IR T o1 g Tobd g2
Options :

LY {9 EIT

2. % fUCEI S

3. % AT Seal ¢ AR TG edl o

4. % f9gdlg WY g Ucdl o

Question Number : 103 Question Id : 9277593920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the x co-ordinate of one of the inflection points of f(x)=x3+x>+1.
Options :

1. % (1/2)

2. % (-1/2)

3. % (1/3)

4. % (-1/3)

Question Number : 103 Question Id : 9277593920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x)=x*+x>+1 & [l U Afd uRadH farg &1 x FdRie J1a H1
Options :

1. % (1/2)

2. % (-1/2)

3. % (1/3)

4. % (-1/3)

Question Number : 104 Question Id : 9277593921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Euclidean domain?
Options :

1. % Z

2. # Every field F with norm N as N(a)=1

3. % Z][i]

4. ¥ The field of rational numbers under absolute value given by N(a)=|a]

Question Number : 104 Question Id : 9277593921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 oF a1 gfaaea THEaas T8 82

Options :



1. %7
2. % TS &F F, N(2)=1 B =9 H A N & 1Y
3. % 7[i]

4. ¥ N(a)=Ja] gR1 3T T FRU& 719 & sfaia uRaa dwrsti o1 &=

Question Number : 105 Question Id : 9277593922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The curve given by x*+y=0 is symmetrical around
Options :

1. % x axis
2. ¥ y axis
3. % around the line x=y

4. # about the origin

Question Number : 105 Question Id : 9277593922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x>+y=0 gRI fear T as & Uy guEA ]
Options :

1. % x A&

2.9 y Y

3. % Wx=y$aﬁ3ﬁ?

4. % AN H IRHA

Question Number : 106 Question Id : 9277593923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The surface area of sphere x*+y*+z*=16, is ?
Options :

1. # 4n



2. % 8n
3. % lé6n
4. ¥ 64n

Question Number : 106 Question Id : 9277593923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ui x2+y?+z2=16 DI q@’lﬂ ATHA g 2
Options :

1. ® 4n

2. % 8n

3. % lon

4. ¥ 64n

Question Number : 107 Question Id : 9277593924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the volume of curve y=x?; on the x axis on interval [0,1] around x axis ?
Options :

l.* =

2. ¥ (1/5)

3. % (w/7)

4. %0

Question Number : 107 Question Id : 9277593924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x & P TN SRTA [0,1] TR x & UR; T y=x> BT I J1d P2
Options :

l. % xw

2. % (n/5)

3. % (n/7)



4.%0

Question Number : 108 Question Id : 9277593925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If r = xi+yj+zk be the position vector given to us , then find curl(r) ?
Options :

1.¥0

2.% 1

3. % 2

4. % 3

Question Number : 108 Question Id : 9277593925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qﬁr=xi+yj+zkgﬁmwmma,?ﬁﬁ(r)waﬁ?
Options :

1.¥0

2. %1

3.% 2

4. %3

Question Number : 109 Question Id : 9277593926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a=1+j+2k ; b=i-j-k be the two vectors given to us , then find the value of cosine of angle between them ?
Options :

1. # 04713

2.9 -0.4713

3. % 0.3556

4. % -0.3556



Question Number : 109 Question Id : 9277593926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i a=i+j+2k ; b=i-j-k 89 AT T &1 AR &, O I ol & B0 DI HIodT BT HIF JTd B2
Options :

1. * 04713

2.9 04713

3. # 0.3556

4. % -0.3556

Question Number : 110 Question Id : 9277593927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find grad(f) if f(x,y,z)=xy+y?z at the point (0,1,-1) ?
Options :

1. ¥ 1-2j+k

2. % 1+2j)+k

3. % 1--k

4. % 2i+j+k

Question Number : 110 Question Id : 9277593927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

grad(f) A & TG fdg (0,1,-1) W f(x,y,2)=xy+y’z ?
Options :

1. ¥ 1-2j+k

2. % 1+2j+k

3. ® 1--k

4. % 2i+j+k

Question Number : 111 Question Id : 9277593928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When p(z) divides the line joining the points A and B in the ratio m:n internally then z is given by what?
Options :

1. ¥ (mz>+tnz')/(m+n)

2. # (mz2-nz'")/(m-n)

3. ¥ m+n+mn

4. % m+n-mn

Question Number : 111 Question Id : 9277593928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 p(z) gl A 3R B Y ST aTelt XN B men b U H SHidlke 0 J fuiiid axar g @ - e & grr fear s 82
Options :

1. ¥ (mz>+tnz')/(m+n)

2. # (mz2-nz")/(m-n)

3. ¥ m+n+mn

4. % m+n-mn

Question Number : 112 Question Id : 9277593929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If z=1+31, find the polynomial generated by its roots?
Options :

1. # 224+2z+10

2.9 722-27+10

3. % 72.27-10

4. % 72427+20

Question Number : 112 Question Id : 9277593929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e z=1+3i, 39b Jol V ST IgUG T D2
Options :

1. # 224+2z+10

2.9 722-27+10

3. % 72.27-10

4. % 72427+20

Question Number : 113 Question Id : 9277593930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A=5 ,then find the number of commutative binary operations on A?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

l1.5°

2.5

3.5

4.5°

Question Number : 113 Question Id : 9277593930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afq A=5 , 1 A R spAfAFAT feanur Hfbar ot e 1 Y2
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.5°

2. 5%

3.5%



4.5

Question Number : 114 Question Id : 9277593931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If R is a relation which connects two elements x and y such that xRy = x-y is even integer , then which of the properties of equivalence relation is
satisfied here?

Options :

1. # R is symmetric
2. # R is transitive
3. % R is reflexive

4. ¥ R is an equivalence relation

Question Number : 114 Question Id : 9277593931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g R TH U1 T § off &f Tfere x 3R y DI 59 UHR SISl ¢ [ xRy = x-y TH QUi &, T T81 geadl I8¢ &1 I A7 071 WP 82
Options :

1. % RUAMT G

2. % RIBUD §

3. % R W RUAfAd) §

4. ¥ R U& Joddl 494 §

Question Number : 115 Question Id : 9277593932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of (cos¢-+ising)¥s?
Options :

1. # cos¢+ising

2. # cos5¢+isinS¢

3. ¥ cos(4/5)¢+isin(4/5)¢

4. # cos(5/4)¢+isin(5/4)¢



Question Number : 115 Question Id : 9277593932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(cos¢-+tising)¥s bl HIH JTd P2

Options :

1. # cos¢+ising

2. # cos5¢+isinS¢

3. % cos(4/5)¢+isin(4/5)¢

4. % cos(5/4)¢+isin(5/4)¢

Question Number : 116 Question Id : 9277593933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a,b,c are vertices of an equilateral triangle ,then a*+b?+c*= ?
Options :

1. ¥ ab+bc+ca

2. # ab+tbc-ca

3. % ab-bc-ca

4. #® a/(b+c)

Question Number : 116 Question Id : 9277593933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i a,b,c RNECIF ﬁﬂﬁf & fﬁ]ﬁﬁ'g;&h %, al a+b o= ?
Options :

1. ¥ ab+bctca

2. ® ab+bc-ca

3. % ab-bc-ca

4. % a/(b+c)

Question Number : 117 Question Id : 9277593934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the polynomial whose roots are -1,1-2w,1-2w??
Options :

1. ¥ (x-1)*+8

2. % (x-1)

3. % (x-1)*-8

4, % x3+8

Question Number : 117 Question Id : 9277593934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 SgUE 1 B oI qd -1,1-2w, 1-2w? &7
Options :

1. ¥ (x-1)*+8

2. % (x-1)°

3. % (x-1)*-8

4. % x3+8

Question Number : 118 Question Id : 9277593935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick the wrong statement?

Options :

1. # Equivalent matrix holds equivalence relation

2. # A is non singular if and only if AB=I or BA=I for some B to be nxn matrix
3. % Elementary rows or column operators doesn't affect rank of matrix

4. ¥ Rank of invertible idempotent matrix is n+1

Question Number : 118 Question Id : 9277593935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T DU DT T HY?

Options :

1. % gAY 3MTogg goudl Yae I8l §

2. % A TR facerm € afe iR Faot afe $© B & T AB=1 T BA=1, nxn 3(Togg BT A118Y
3. % Ui 3T A1 Bl YRS T & 3B B WU Ta! Hd &

4. ¢ HHUIY THH g BT3P n+1 §

Question Number : 119 Question Id : 9277593936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the skew symmetric matrix of order 2 whose entries belong to the set {0,1,-1}?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.4

3.5

4.6

Question Number : 119 Question Id : 9277593936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 2 BT TR GAT TE F1d B3 o ufafdat Iq=g {0,1,-1) T Taifdra g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.3

2.4

3.5



4.6

Question Number : 120 Question Id : 9277593937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using row echelon form find x and y if x+2y=1;2x+y=2?
Options :

1. ¥ (1,0)

2. % (2,0

3. % (0,1)

4. % (0,2)

Question Number : 120 Question Id : 9277593937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e x+2y=1;2x-+y=2 Bl dl I T =Y BT YT R x 3R y JTd B2

Options :
1. ¥ (1,0)
2. % (2,0
3. % (0,1)
4. % (0,2)
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Group Id : 92775983
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Discipline2
Section Id : 92775999
Section Number : 1
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Question Number : 121 Question Id : 9277593938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is uncountable?
Options :

1. # The set of a rational numbers in [0,1]
2. % The unit interval [0,1]

3. % Every subset of countable set

4. # The set of all integers

Question Number : 121 Question Id : 9277593938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 3 SrTUFY 82
Options :

1. % [0,1] ¥ uRUT Tl &1 9g=d



2. ¥ SBT3 AR [0,1]
3. % TUERY Y9 BT Udd Iuqg=d
4. % G quiiep] 1 A=

Question Number : 122 Question Id : 9277593939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that ," Between any two distinct numbers, there lies at least on rational number and hence there lies many rational numbers
Options :

1. ¥ Density theorem

2. % Archimedean property

3. % Hahn Banach theorem

4. % Cantor's theorem

Question Number : 122 Question Id : 9277593939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fora v & ST TR o, ot & el WReAnell o S, <o URET S Bl § SR ST B URHg SeATd gie o |
Options :

1. ¢ ITcd UHY

2. % SIfh SISl 0T

3. % g 99 T

4. % ST

Question Number : 123 Question Id : 9277593940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true ?

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.



Options :

1. The intersection of any finite number of open set is closed
2. The intersection of any finite number of open sets is open
3. The intersection of an arbitrary number of open sets is open
4. The union of any arbitrary family of open sets is open

Question Number : 123 Question Id : 9277593940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed # 9 3 91 $yT 94 87
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. g (3119) Ty o1 Tt ot ufkfirg e &1 ufdwse dg (aelies) 8id1 @
2. [ (30 T=rt o fopddt off afkfira ke &1 ufaese |ar (3ho) gt 8
3. [ (3N Y] B SMTeie T BT Ufdwse Jga (3N9) §

4. g (3N Tl o forddt off sreie st ufkaR &1 firem Qe (3fiue) §

Question Number : 124 Question Id : 9277593941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If £={2,22,23,...}, then check about whether it is bounded above or below or bounded or unbounded?
Options :

1. ¥ fis bounded below by 2 but unbounded above

2. # fis unbounded

3. % fnever attains its bound

4. # fis bounded above by 2 but not bounded below

Question Number : 124 Question Id : 9277593941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e £=(2,22,25,..}, A Sird B3 fob I8 SWR a1 1= uReg 2 a1 uReg § a1 3ruleg 82
Options :

1. ¢ £, 2 § - gag § dfe FWR sufkag §

2. % IUNEIG

3. % £ 30 UREG Dl HHI U 8! el

4. % £2 4 JWR UNTG § dfee = uReg T8 ®

Question Number : 125 Question Id : 9277593942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the range of the sequence given by f=<(1/n)>?
Options :

1. % {1,2,3,..}

2.9 {1,1/2,1/3,...}

3. % {1,1/3,1/5.,..}

4. % zero

Question Number : 125 Question Id : 9277593942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=<(1/n)> GRT fQT 7T 317spH b1 FIHAT 1 B2
Options :

1. % {1,2,3,..}
2.9 {1,1/2,1/3,.
3. % {1,1/3,1/5.,

4. % [

N
"

Question Number : 126 Question Id : 9277593943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Check about monotonicity of the function given by =?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. it is monotonically increasing

2. it is monotonically decreasing

3. it is monotonically increasing as well as decreasing

4. it is neither monotonically increasing nor decreasing

Question Number : 126 Question Id : 9277593943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f= gRT faU U e &) Thigtedl (ARIRIRRIC B S B2
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. T8 Uebfted: (HHIeI-dhelh) 96 3618

2. I8 Uhfeted: (AMR-dbat) e 3818

3. 98 Usbiatead: (M) 9¢ 81§ 3R A4 g 9e 8T §

4. % 9 Al THied: (@HICIHE) 96 BT 8 AR AT I W/ 8

Question Number : 127 Question Id : 9277593944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the terms of the sequence given by <1+1/n*>?
Options :

1. % <1,2,3,.>

2. % <1,1/4,1/9,.>

3. ¥ <2,5/4,109,...>



4. % <1,1,1,..>

Question Number : 127 Question Id : 9277593944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<1+1/n>> gRT fGU TN 31IehY & UG AT HR?
Options :

1. ® <1,2.3,.>

2. % <1,1/4,1/9,.>

3. ¥ <2,5/4,10/9,...>

4. % <1,1,1,..>

Question Number : 128 Question Id : 9277593945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series given by 1/(2.3)+2/(3.4)+4/(4.5)+... is
Options :

1. # convergent
2. ¥ divergent
3. % oscillates finitely

4. # oscillates infinitely

Question Number : 128 Question Id : 9277593945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1(2.3)42/(3.4)+4/(4.5y+.. RIS TS ggar @
Options :

1. % AR

2. ¢ UIRY

3. % URT ¥ I Sl Har g
4. % ORI ¥U Y e Hdl &




Question Number : 129 Question Id : 9277593946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series given by 1+(1/5)+(1/5*)+.... is
Options :

1. ¥ convergent
2. % divergent
3. % oscillates finitely

4. # oscillates infinitely

Question Number : 129 Question Id : 9277593946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1H(1/5)H(1/52)+.... GRT S TS g@en 8
Options :

1. ¢ AR

2. % JOIRY

3. ® gRIT ¥ I gl Hdl &
4. % URMT *0 I a1 g

Question Number : 130 Question Id : 9277593947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series given by 1x5,2x523x53 ... isa series ?

Options :

1. # arithmetic series
2. % geometric series
3. #® harmonic series

4. ¥ arithmetico-geometric series

Question Number : 130 Question Id : 9277593947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1x5,2x52,3x5%,.... GRICI TS 9@al _ SGaT g2
Options :

1. % AR 4Gell

2. # forgrdifess siaar

3. % UGy Yot

4. ¢ FHFR-SATHAT gRae

Question Number : 131 Question Id : 9277593948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of information is given to us in mathematical models?
Options :

1. ¥ estimated results

2. # wrong results

3. ¥ accurate results

4. ¥ approximate wrong results

Question Number : 131 Question Id : 9277593948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Arsdl | g1 ford ThR &1 SHBRI & Sl 82
Options :

1. ¢ 3T TRomg

2. % Tefd URomA

3. % gl gRumH

4, % ST Terd ROy

Question Number : 132 Question Id : 9277593949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In engineering problems, there are some statement in which we have to use mathematical expression in terms of variable , function and equation
,such expression are termed as ?

Options :

1. * ring solutions

2. ¥ mathematical models
3. % models of time

4. # terms of continuity

Question Number : 132 Question Id : 9277593949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frifyes THesli #, oo By U1 gla § R gd it siftreafa o =R, e 3R JHieur & =0 § Tai &1 gidr 8, T
TGP el ofraT 32

Options :

1. % 9O EIYUE
2. ¢ TN ATed
3. % Bl ASd
4. % grad &1 d

Question Number : 133 Question Id : 9277593950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Population growth rate is calculated by which of the following term?
Options :

1. ¥ dN/dT=rN

2. % dN/dT=-N

3. # dN=rN

4, % dN=-rN

Question Number : 133 Question Id : 9277593950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRR i &R &1 0T Fferiad o & ford Ug & 1 Sl 82
Options :

1. ¥ dN/dT=rN

2. % dN/dT=-N

3. ® dN=rN

4. % dN=-N

Question Number : 134 Question Id : 9277593951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When per capita rate increases, we take same positive value we get ~ growth?
Options :

1. ¥ exponential

2. % Jogistic

3. % linguistics

4. % carrying capacity

Question Number : 134 Question Id : 9277593951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR R A GG TN T, AeH TR FAS T Ad & P gl gig U gl 82
Options :

1. ¢ 91d

2. % gfgard

S RILINCRIE!

4. % G &M

Question Number : 135 Question Id : 9277593952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which growth curve indicates that, "living organisms is growing in natural environment"?



Options :

1. ¥ sigmoid growth curve
2. # tcurve

3. % logistic curve

4. % parametric curve

Question Number : 135 Question Id : 9277593952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF 1 3fg ah SR R ¢ b, "Siifad Sita wiehfae arararur & gfg HR 3@ 82
Options :

1. ¢ Ry 9fg 9

2. % tdd

3. % gigHrd ash

4. % Yrafcie deh

Question Number : 136 Question Id : 9277593953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solve the given differential equation y?dx+2xydy=0 ?
Options :

1. ¥ xy*=k

2. % yx>=k

3. % xy=k

4, ® yx3=k

Question Number : 136 Question Id : 9277593953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fQU 7T Sradd THIBRUT y2dx+2xydy=0 DI e B2

Options :



1. ¥ xy>=k
2. ® yx>=k
3. % xy=k
4. % yx>=k

Question Number : 137 Question Id : 9277593954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the integrating factor of (y-xy?)dx-(x+x2y)dy ?
Options :

1. # 1/2x

2. % 1)2y

3.9 1/2xy

4, % y/2x

Question Number : 137 Question Id : 9277593954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(y-xy?)dx-(x+x2y)dy T THH AT UGS T B2
Options :

1. % 1/2x

2. % 12y

3.9 1/2xy

4. % y/2x

Question Number : 138 Question Id : 9277593955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of mathematical model?
Options :

1. % abstractions

2. % heuristics



3. #* insilicators

4. ¥ presumptions

Question Number : 138 Question Id : 9277593955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # 9 & 1 TR Aisd &1 TR T8l 82
Options :

1. % S

2. % ggRRTH

3. % RYfeIheR

4. fOem=r

Question Number : 139 Question Id : 9277593956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a component of mathematical model?
Options :

1. % variables

2. % factors

3. % constants

4. ® noise parameters

Question Number : 139 Question Id : 9277593956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & @ & 91 1T Ared &1 U g 62
Options :

1. % =R

2. ¥ HRD

3. % fodie




4, % YR AMICUS

Question Number : 140 Question Id : 9277593957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which model, top down approach focus on existing theory and begins with hypothesis Is based on ?
Options :

1. # static model

2. # dynamic model

3. ¥ deductive model

4. # dynamic static model

Question Number : 140 Question Id : 9277593957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Aied & SR, U™ SUNTH Hislal Riaid IR & disd HRdl ¢ 3R URSed-T d & gidl 8, ol (-5 TR SR 52
Options :

1. % Rfaes el

2. % Tfae faef

3. ¢ faATEs fest

4. % Tfae Wfae el
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Group Id : 92775984
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Group Minimum Duration : 0
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Edit Attended Group? : No

Break time : 0



Group Marks : 20
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Sub-Section Id : 927759120

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277593958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit of the derivative of function f(x,y)=xy(x*+y*) at the point u (V2,V2)?
Options :

1. %0

2. ¥ \2/3

3. %43

4. % 2

Question Number : 141 Question Id : 9277593958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fag u (V2,42) R BT fix,y)=xy?/(x*+y*) & HIHAS b YA JTd D2
Options :



1.%0
2. ¥ \2/3
3. % 43
4. % 2

Question Number : 142 Question Id : 9277593959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f:R to R is continuous and f(x) is continuous for every x in Q then f(x) is continuous on x in R, which theorem states this fact?
Options :

1. ¥ Identity theorem

2. # Initial value theorem

3. # Riemann theorem

4. % Weierstrass factor theorem

Question Number : 142 Question Id : 9277593959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe R Y R FARAR B 3R Q H UTP x & ol fix) FRAR B @1 R # x R fix) FRAOR B, P 1 U9T 39 9 P! Il 82
Options :

1. ¥ 3fge<ci UHy

2. % YRINS AF g0y

3. % JAFTHY

4. % JECH SRS THYG

Question Number : 143 Question Id : 9277593960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Check about the continuity of function given by f(x)=Vx in interval [0,2] ?
Options :

1. % it is uniformly continuous



2. # it is not uniformly continuous
3. # can't say about continuity of f

4. ® discontinuous everywhere

Question Number : 143 Question Id : 9277593960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3IARTE [0,2] H f(x)=vx GRT U 7T Weid Dl AIdd & TR T S 2
Options :

1. ¥ g A TRR

2. % T AF ®0 I FRAR TS 8

3. % £ GIdd & IR H 75l g Ybd

4. % I OIE 3Rdd

Question Number : 144 Question Id : 9277593961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Check about the nature of continuity of f(x)=x/(x+1) in [0,2]?
Options :

1. # not continuous

2. ¥ uniformly continuous

3. # not uniformly continuous

4. ® continuous but not uniformly continuous

Question Number : 144 Question Id : 9277593961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[0,2] H f(x)=x/(x+1) B! TTdT D! UPHfd & dR T Tid HI?
Options :

1. ® R =gt

2. ¢ U FY Y AR




3. % gAM ©U Y RO 76t
4. % R dfded T9H =0 9 FRa 78!

Question Number : 145 Question Id : 9277593962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which theorem , there exists a real number C between a and b such that f'(C)=0 whenever f'(a)f'(b)<0 such that f be defined and
derivable on [a,b]?

Options :

1. # Dirichilets theorem
2. ¥ Darboux's theorem
3. # Milne theorem

4. % riesz's theorem

Question Number : 145 Question Id : 9277593962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U0 & SFTER, a 3R b & o9 T ARATdS TSI C 3H YR HIGG © P £1(C)=0 T8 Hi £(a)f (b)<0 T %8 b £ URHINT B 3R [a,b]
IR HTHAS 87

Options :

1. % feRacicy vy

2. ¢ SEieg TRy

3. % e vg

4, % A IHT

Question Number : 146 Question Id : 9277593963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If u and v are continuous on [a,b] and have equal finite derivatives in [a,b] ,then u-v is
Options :

1. % constant
2. % f/g



3.% ¢

4. * infinite

Question Number : 146 Question Id : 9277593963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I u 3R v, [a,b] TR FRAR & 3R [a,b] & THH GRFAT S/dpaei g, dlu-v ©
Options :

1. ¢ (Agdic

2. % f/g

3.% ¢

4. % 3Hd

Question Number : 147 Question Id : 9277593964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that," If f and g are continuous function from R to R such that f(x)=g(x) for all rational ,then f(x)=g(x) for all reals too"?
Options :

1. ¥ identity theorem

2. # mean value theorem

3. ¥ Cauchy theorem

4. % Bertrand theorem

Question Number : 147 Question Id : 9277593964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?%WWW%%, 'gfe £ 3R ¢ R Y R TP 39 UPR R B § [ fix)=e(x) o oA & U R, a1 fx)=g(x) T4 arafaes & forg
"9

Options :

1. ¢ JUHA 98

2. % g0 HH UHY




3. % HIN gAY
4. % §¢sTHY

Question Number : 148 Question Id : 9277593965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Taylor's theorem is mainly used in expressing the function as a sum with terms ?

Options :
1. # finite
2. ¥ infinite
3. % partial

4. % complete

Question Number : 148 Question Id : 9277593965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MU SN T RIS UGl & 01 A &I aiT & U H oJad HR- H a1 STl 87
Options :

1. % gRfd

2. ¢ 3Hd

3. % 3ifRrep

4. % gof

Question Number : 149 Question Id : 9277593966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the expansion of cos(x?) ?

Options :

1. % [+x+x¥/21+...
2. % [+x-x2/21+...
3.9 1-x21+x8/41-...



4, % 1+x4214+x3/41+...

Question Number : 149 Question Id : 9277593966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
cos(x?) h YR IATd B

Options :

1. % 1+x+x?/21+...

2. % [+x-x221+...

3.9 1-x¥21+x8/41-...

4. % 1+x4214+x5/41+...

Question Number : 150 Question Id : 9277593967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x,y,z)= x*+y*+z>-xyz+4 then f(x,y,z)= ?
Options :

1. # f(x,y,-2)

2. ¥ f(z,y,X)

3. % f(-x,y,2)

4. % 0

Question Number : 150 Question Id : 9277593967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Cl‘% f(x,y,z)= x2+y*tz2-xyz+4 , ar fxyz=__?
Options :

1. # f(x,y,-2)

2. ¥ f(z,y,X)

3. % f(-x,y,2)

4. %0



Question Number : 151 Question Id : 9277593968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the limit of sin (y)/x ,where (x,y) approaches to (0,0)?
Options :

1. %0

2.% 1

3. * infinite

4. % doesn't exist

Question Number : 151 Question Id : 9277593968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sin (y)/x @1 G 1 B, TT&I (x,y), (0,0) TF Ugadl &7
Options :

1.% 0

2. % 1

3. % 3Fd

4.« NG Bl §

Question Number : 152 Question Id : 9277593969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the maximum and minimum values of f(x)= sin(sin(x)) respectively ?
Options :

1. # sin(1) and sin(2)

2. % sin(1) and sin(-1)

3. # sin(2) and sin(1)

4. # sin(0) and sin(90)

Question Number : 152 Question Id : 9277593969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f(x)= sin(sin(x)) P HH: ARIBHTH 3R TATH HIH J1d HI?
Options :

1. % sin(1) 3R sin(2)

2. ¢ sin(1) 3R sin(-1)

3. % gin(2) 3R sin(1)

4. % sin(0) 3R sin(90)

Question Number : 153 Question Id : 9277593970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the absolute maxima of f(x)=5x3*+x?-x+1 on [-1,2]?
Options :

1. # at x=-1

2. ¥ at x=2

3. % atx=1/5

4. % atx=1/3

Question Number : 153 Question Id : 9277593970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[-1,2] TR f(x)=5x*+x2-x+1 BT fFRUeS =W J1d B2
Options :

l. % x=-1R

2. ¥ x=2 R

3. % x=1/5W

4. % x=1/3W

Question Number : 154 Question Id : 9277593971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Evaluate the triple integral of f(x,y,z)=xdxdydz where x,y,z varies from 0 to 1?
Options :

1. ¥ (1/2)

2. % (1/3)

3. % (1/4)

4. % (1/5)

Question Number : 154 Question Id : 9277593971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x,y,2)=xdxdydz & BH-THIHT BT YedTh- B 561 x,y,z 0 F 1 I 47 82
Options :

1. ¥ (1/2)

2. % (1/3)

3. % (1/4)

4. % (1/5)

Question Number : 155 Question Id : 9277593972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick the correct statement?

Options :

1. ¥ Green's theorem is particular form of Stoke's theorem
2. % Stoke's theorem is particular form of Green's theorem
3. # Green's theorem and Stoke's theorem are same

4. % Green's theorem and Stoke's theorem are entirely different

Question Number : 155 Question Id : 9277593972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5! HYUF BT TG B2



Options :

1. ¢ 9 &1 7Y Weg Uy &1 faRiy &u 8

2. % Wy YAy Y & THy ST ARy =u @

3. % 9 BT URY 3R Wa U8y 9 g

4. % 9 BT 7Y SR Tia THg U3 RE U 3T §

Question Number : 156 Question Id : 9277593973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of integral of f ; where f(x,y)=(x*y+xy)dx+(x>+y?)dy over the limits -1 to 1?
Options :

1. %1

2. %2

3.%3

4. ¥ 0

Question Number : 156 Question Id : 9277593973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

£ & FHIG A BT HM 1 BY; TET f(x,y)=(x2y+xy)dx+(x+y2)dy, -1 T 1 BT a1 I 31fde g2
Options :

1. %1

2. %2

3.%3

4. ¥ 0

Question Number : 157 Question Id : 9277593974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let F=xi+yj+zk ,then find the integral of F around the simple closed curve C over the boundary of surface S?
Options :

1.¥0



2.% 1
3.% 2
4. %3

Question Number : 157 Question Id : 9277593974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH d [ F=xityj+zk , A1 T8 S DI YA IR YR 8¢ (FAwS) Ih C & IR 3R F BT GHIG AT 1 B2
Options :

1.¥0

2. % 1

3.%2

4, % 3

Question Number : 158 Question Id : 9277593975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If r=3t1+4tj-7t*k , find the derivative dr/dt?
Options :

1. # 3i+4j+14tk

2. ¥ 3it+4j-14tk

3. % 3i+2j-5k

4. % 3i+7j+78k

Question Number : 158 Question Id : 9277593975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i r=3ti+4tj-7¢k , STDHAS dr/dt JTd P2
Options :

1. ® 3i+4j+14tk

2. ¥ 3it+4j-14tk



3. % 3j+2j-5k
4. % 3i+7j+78k

Question Number : 159 Question Id : 9277593976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Determine the order of poles cosecz?
Options :

1. ¥ z=0 is the simple pole

2. % 7=0 is the irregular singularity

3. # no pole occurs at z=0

4. ® apole of order 3

Question Number : 159 Question Id : 9277593976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U1 cosecz 1 HH JTd B2

Options :

1.¥ =0 WA YA g

2. % £=0 it fafemdr g

3. % =0 RPIS YITEI B 8

4. % T (3{1SX) BT TP Yd 3

Question Number : 160 Question Id : 9277593977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f and g are Riemann integrable on [a,b] , then which of the following property doesn't holds ?
Options :

1. # fis R-integrable

2. # max{f,g} is R-integrable

3. ® min{f,g} is R-integrable



4. ¥ |f] is not R-integrable

Question Number : 160 Question Id : 9277593977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g £ 3R g, [a,b] TR M THIG Y &, Ot FUfRad & T S I 07 YRT T8l Rl 82

Options :

1. % £ R-GHTHT &

2. ®* max{f,g} R-W%
3. % min{f,g) R-GHHANI §
4. ¢ |f| R-GHIG AT T8l &
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Question Number : 161 Question Id : 9277593978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x)=1/q for any rational number x and 0 otherwise , then find the lower integral?
Options :

1.¥0

2. % 1

3.% 2

4. % 6

Question Number : 161 Question Id : 9277593978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e f(x)=1/q foat afeg T x 3R 0 & forg sy, t Ay gare e I1d 32
Options :

1.¥0

2. % 1]

3.%2

4. % 6

Question Number : 162 Question Id : 9277593979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following intervals are infinite?
Options :

1. % (a,b)



2. % [ab]
3. % [a,b)
4. ¥ [a,infinity)

Question Number : 162 Question Id : 9277593979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 &F 9 siartar SaRfid 82
Options :

1. % (a,b)

2. % [a,b]

3. % [a,b)

4, ¥ [a, 3H-d)

Question Number : 163 Question Id : 9277593980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let DER ; f:D to R , be sequence of bounded function and series f'is Uniformly continuous to some function g ,then

Options :

1. ¥ g is bounded
2. % gis infinite
3. % gis finite

4. % g isunbounded

Question Number : 163 Question Id : 9277593980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AM & fb DER ; £D A R, RS Be & 3IHH & 3R T £ FS B ¢ & U IAA 0 FRRQ, @
Options :

1. ¢ gtﬁ\’_@'@%

2. % g \’Fﬂ%




3. % gtlﬁ’ﬁﬁ%
4. ® g&qﬁa&r%

Question Number : 164 Question Id : 9277593981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find point wise limit of the series <x/(1+nx)>?
Options :

1.¥0

2.% 1

3.% 2

4. % 3

Question Number : 164 Question Id : 9277593981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT <x/(1+nx)> D1 fagaR a1 J1d H<2
Options :

1.¥0

2.% 1

3.% 2

4. % 3

Question Number : 165 Question Id : 9277593982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following series <n?*x/(1+n*x*)> , and check whether the series is uniformly convergent on [0,1]?
Options :

1. # it is uniformly continuous on (0,1)

2. # itis uniformly continuous on [0,1]

3. % it is not uniformly continuous on [0,1]

4. # none of the above options hold



Question Number : 165 Question Id : 9277593982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad $@@m <n2x/(1+n2x2)> R TR &, 3R T 6 F1 e THH 9 9 [0,1] TR IfHe 82
Options :

L% (0,)RIAA T RRE

2. % [0, RIUA XYY FARR B

3. ¢ [0, RIAA U I FRR T8l 8

4. % IWad H A BI3 1 fIbey 161 &

Question Number : 166 Question Id : 9277593983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the radius of convergence of series 1+x+x*+x3+... 7
Options :

1.%0

2.9 ]

3.% 2

4. %3

Question Number : 166 Question Id : 9277593983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 1+x+x>+x>+... D AT ! BT 1 B2
Options :

1.*0

2.¥1

3.%2

4. %3



Question Number : 167 Question Id : 9277593984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find radius of convergence of 1+x+x?/2!+... ?
Options :

1.#*0

2.% 5

3.% 10

4. ¢ infinite

Question Number : 167 Question Id : 9277593984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1+x+x2/21+... B T i AT 1 B2
Options :

1.#*0

2.% 5

3. % 10

4. ¢ 3d

Question Number : 168 Question Id : 9277593985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a metric d on a non empty set X, the metric space is represented as

Options :
1. ¥ (X,d)
2. % [X,d]
3. % (X, d]
4. % [X,d)

Question Number : 168 Question Id : 9277593985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ueh 1T =T X R A d b o, Afees 9wl & &0 A qiigr S g
Options :

1. ¥ (X,d)

2. % [X,d]

3. % (X,d]

4. % [X,d)

Question Number : 169 Question Id : 9277593986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cla,b] i.e. the set of all continuous function from a to b is a subset of real valued function?

Options :

1. ¥ bounded

2. # discontinuous
3. # finite

4. % infinite

Question Number : 169 Question Id : 9277593986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C[a,b] T a F b db G FARER Weid &1 9= Sl IRdfddb T T &1 ST 82
Options :

1. ¢ RS

2. % 3[Hdd

3. % URfTd

4. % 3fd

Question Number : 170 Question Id : 9277593987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represent triangular inequality?



Options :

1. ¥ d(x,y)+d(y,2)>d(x,2)
2. # d(x,y)+d(y,z)=d(x,2)
3. % dxy)td(y,z)<d(x,z)
4. % d(x,y)t+d(y,z)+d(x,z)>0

Question Number : 170 Question Id : 9277593987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed & 3 Beif sl &1 uiiHiRa od 52
Options :

1. ¥ d(x,y)+d(y,2)>d(x,z)

2. % d(x,y)*+d(y,z)=d(x,2)

3. % d(x,y)td(y,2)<d(x,z)

4. % d(x,y)*+d(y,z)+d(x,z)>0

Question Number : 171 Question Id : 9277593988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A topological space is if every point x of X has neighbourhood base consisting of compact neighbourhoods?
Options :

1. # compact
2. % Jlocally compact
3. # connected

4. % finite metric

Question Number : 171 Question Id : 9277593988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& FiRUfas® @idioee) iy 33l X & U fog x # gHIuE (Aags) SMUR § forgd ded 9Hiud (9gS) 87

Options :



1. % ggd

2. ¢ RIFd: 9gd
3% ISl Es

4. % g Afcew

Question Number : 172 Question Id : 9277593989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{x € :(, y)<r} defined in metric space is known as ball.
Options :

1. % open

2. % closed

3. ¥ semi-open

4, % semi-closed

Question Number : 172 Question Id : 9277593989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afcd IRT HuRUINT (x € :(,y)<r} S ® ©UH SIS |
Options :

1. % gar (31o)

2. ¥ ¥ (FITS)

3. % 3r¢f gar (AH-39)

4. % 3 dg AP-FANS)

Question Number : 173 Question Id : 9277593990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The usual topological space induced by usual metric is denoted by which of the following?
Options :

1. ¥ d(X,Y):|X'y‘



2. % d(xy)=[x+y]
3. % d(x,y)>0
4. % d(x,y)<0

Question Number : 173 Question Id : 9277593990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Do gR1 URd g ifkifaes (@udiomee) 9ty o Faffad § 9 feas gr1 i s 82
Options :

L ¥ d(x,y)=Ix-y|

2. % d(xy)=lxtyl

3. % d(x,y)>0

4. % d(x,y)<0

Question Number : 174 Question Id : 9277593991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which property states that ," ASX be any subset and every finite sub-collection of A has non empty intersection?
Options :

1. ¥ Finite intersection property

2. % Cantor property

3. % weierstrass property

4. ® heins berg property

Question Number : 174 Question Id : 9277593991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T §d1T & b, "ACX Pls ITTH= 8 3R A & Ud® URfAd IU-I8 & dis ifvad ufawe 87

Options :




3. % GRS 07
4. % RO

Question Number : 175 Question Id : 9277593992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The set S={(0,y) : —1 <y <1} U {(x,sin(1/x)) : x> 0} is
Options :

1. ¥ connected
2. % <
3. # closed

4. % infinite

Question Number : 175 Question Id : 9277593992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S={(0, y) : —1 <y < 1} U {(x,sin(1/x)) : x > 0} T
Options :

1. ¥ S gU

2. % <

3. % §q (KivS)

4. % 3d

Question Number : 176 Question Id : 9277593993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An automorphism is defined if it is

Options :
1. ¥ isomorphism,one one ,onto
2. % jsomorphism but not one one and onto

3. # one one ,onto



4. ® jsomorphism only

Question Number : 176 Question Id : 9277593993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3ficHlhed & aRHING frarsrarg afcag . @
Options :

1. ¢ GHIGIHT (ITSTHTHH), Th T, TR

2. % QHIHIAHA (SMSTHTLSH) Afdh b TH el 3R W
3. % Th U, W

4. % Had GHIP BT (ATSTHHOH)

Question Number : 177 Question Id : 9277593994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a multiplicative group defined by T(x)=x?; then T satisfies which of the following property?
Options :

1. # Homomorphism

2. # isomorphism

3. % automorphism

4. ¥ all of the three options

Question Number : 177 Question Id : 9277593994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH o {3 G T TUMTHS THE § S T(x)=x2 R URYING g; O T Fufoiaa & 3 forg 1or &1 Iy exar g2
Options :

1. % gHAThH

2. % {-IJ-II?I?IOPCII (31I${-I4-I\I’Irfb\r|4-l)

3. % ficHfthorEm

4. O fasbedl & 9 it




Question Number : 178 Question Id : 9277593995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If U(8)={1,3,5,7} and U(10)={1,3,7,9} ,then find how many element are there in U(8)xU(10)?
Options :

1. % 4

2.% 8

3.¥ 16

4. % 32

Question Number : 178 Question Id : 9277593995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g U(8)={1,3,5,7} TUTU(10)={1,3,7,9} , Tl I1d B b U(8)xU(10) H fore Tferde g2
Options :

1. % 4

2.% 8

3.¥ 16

4, % 32

Question Number : 179 Question Id : 9277593996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The external direct product of two abelian group is abelian if and only if both are ?
Options :

1. # finite

2. ¥ abelian

3. * non abelian

4. # infinite

Question Number : 179 Question Id : 9277593996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& ST THE F1 168! Ue TUHmd SfaferH § afe iR daa afeaql g2
Options :

1. % gRffa

2. ¢ 3faferad

3. % IR 3fafergd

4. % 3Hd

Question Number : 180 Question Id : 9277593997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the cardinality of generating set for dihedral group?
Options :

1. %1

2.9

3.% 3

4. % 4

Question Number : 180 Question Id : 9277593997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgda THg & g SPRICT ¥e &1 TUHIS J1d B2
Options :

1. % 1

2.9 2

3.%3

4. % 4

Discipline5



Group Number : 10

Group Id : 92775986

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Discipline5

Section Id : 927759102

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759122

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277593998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a set G with binary operation * satisfies closure property as well as associative property then it is called
Options :

1. * monoid

2. % quasiod

3. % semigroup

4. % group



Question Number : 181 Question Id : 9277593998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fganurst Tforan & T1 U T G * THTGA T[0T & JrY-T1Y TaRI QU H i Aqy dRaTe sy FHel ol g
Options :

1. % OHILS

2. % HRES

3. ¢ YR

4. % JHg

Question Number : 182 Question Id : 9277593999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of subgroups of cyclic group of order 50?
Options :

1. %2

2. % 4

3.6

4. % 8

Question Number : 182 Question Id : 9277593999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 50 b Th 1Y THE & SUTHG! D1 BT JTd HL?
Options :

1. %2

2.% 4

3.6

4. % 8




Question Number : 183 Question Id : 9277594000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(z) =u+1v is an analytic function,in domain D ,then the curves u=constant,v=constant form two families?

Options :

1. ¥ orthogonal
2. % symmetric
3. # diagnol

4. % parametric

Question Number : 183 Question Id : 9277594000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e f(z) —u+iv THTGET D H fIzawunetss wad 8, O 9 v=Faaie v—Fadaiedr . gRaR a9 82
Options :

1. ¢ fTfa

2. % gHAT

3. % fapul

4. % grafee

Question Number : 184 Question Id : 9277594001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Check about continuity and analyticity of f(z)=cos(z)?
Options :

1. # continuous but not analytic

2. % continuous and analytic everywhere

3. % analytic but not continuous

4. ® neither continuous nor analytic

Question Number : 184 Question Id : 9277594001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f(Z)ZCOS(Z)aﬁW 3R faRaUmEEd & TR | o 62
Options :

1. % FROR afd Ixale et

2. ¢ TG FARR 3IR Ixcifvas

3. % =AY dfdh FRAR =T8T

4. % 941 fFR® IR 7 8 Izt

Question Number : 185 Question Id : 9277594002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the contour is closed and does not intersect itself ,then it is called curve.
Options :

1. # open
2. ¥ jordan
3. % binary

4. # ternary

Question Number : 185 Question Id : 9277594002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e THT= o (Fees) § iR WY & Ufdwde T8l ddle, 13y dh Hel Sl gl
Options :

1. % gar (31o)

2. ¥ Sigd

3. % gUIYUR]

4. % Fomerd @

Question Number : 186 Question Id : 9277594003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If a function f(z) is continuous on a contour C of length 1 and if M is the upper bound of f(z) on C ,then [f(z)dz< ?
Options :

l.* M

2. % Ml

3.% L

4. % M/

Question Number : 186 Question Id : 9277594003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e DS B f(z) T8 1 P I ¢ R FRRE MM AR C WM, f(z) P ST INTG §, B ffz)dzs 2
Options :

1.* M

2. % Ml

3.% L

4. %= M/l

Question Number : 187 Question Id : 9277594004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let f(z) be single valued analytic function in a simple connected domain D, if a,b are in D ,then( [f(z)dz)over the limits a and b =
where F(z) is and indefinite integral of f(z)?

Options :
1. ® F(a)
2. % F(b)
3. # F(a)-F(b)
4. ¥ F(b)-F(a)

Question Number : 187 Question Id : 9277594004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AH T P f(z) TP WYRUI IS UHEET D H Tehd HH IRAS e &, TG a, b, D H &, Al (ffz)dz) THT Y 31fF a iR b = , ST8T F(z)



& 31K f(z) BT YHIDT &2
Options :

1. % F(a)

2. % F(b)

3. # F(a)-F(b)

4. ¥ F(b)-F(a)

Question Number : 188 Question Id : 9277594005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that," if an entire function is bounded for a values of z,then it is constant"?
Options :

1. ¢ Lioville's theorem

2. ¥ morera theorem

3. # Fundamental theorem

4. ¥ Cauchy theorem

Question Number : 188 Question Id : 9277594005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg v & g1 T § b, afe 1S el Bad 2 & A & fo uftes §, o 98 fHadie g
Options :

1. ¢ ferifaad uag

2. % IR UHY

3. % gayd uad

4. % DR UEY

Question Number : 189 Question Id : 9277594006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluate [zdz over C(ab initio)?
Options :



1. # bt+a-2
2. ® (b2+a?)2
3. ¥ (b2-a2)2
4. % p>ta?

Question Number : 189 Question Id : 9277594006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i PR C(ab initio) TR [zdz?
Options :

1. # bt+a-2

2. % (b*+a?)/2

3. ¥ (b*-a?)/2

4. ¥ b>+a?

Question Number : 190 Question Id : 9277594007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the residue f(z)=z+1/z+1/z*+... at z=infinity?
Options :

1. %0

2.% 1

3.¢ -1

4, % 2

Question Number : 190 Question Id : 9277594007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7=3{-d TR AYHNT f(z)=z+1/z+1/2>+... Ald B2
Options :

1.% 0



2.%1

3.9 -1
4. % 2

Teaching Methodology
Group Number : 11
Group Id : 92775987
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No

Teaching Methodology
Section Id : 927759103
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759123
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 9277594008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which learning focuses on learners reflecting on their experience of doing something, so as to gain conceptual insight as well as practical
expertise?

Options :

1. #¥ Practical learning

2. % Focused learning

3. ¥ Experiential learning

4. # Theoretical learning

Question Number : 191 Question Id : 9277594008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 3iferTH Rrefial iR e Siad HRA1 7, T HS A & 30 3IHd B ufafdfad HRclt §, difcs daies Siae® & ary-ary
TagTN D ARSI BRI P Sl T2

Options :

1. % HagiNe e

2. % Pfgd T

3. ¢ U SffRTH

4. % Jgifae M|

Question Number : 192 Question Id : 9277594009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Talking and indiscipline in the classroom is an indication of

Options :

1. # Mischievous behaviour
2. % Mannerless

3. % not a good student

4. ¥ Boredom caused by repetitiveness

Question Number : 192 Question Id : 9277594009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HefT T T1d BT IR SR BT Hdhd gl
Options :

|. ¥ YRRl TagR

2. % 3RV

3. % 33T B Tal

4. ¥ g4 & HRUI SINTd

Question Number : 193 Question Id : 9277594010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What refers to the set of rules and principles that govern the structuring of a sentence or a phrase in a language?
Options :

1. # Vocabulary

2. ¥ Syntax

3. % Language function

4. % Discourse

Question Number : 193 Question Id : 9277594010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fort Lot & aTer a1 TR Bt I 6 R v e et oiR Rigidl & 99 o o1 Fd 72
Options :

1. % earaei!

2. ¥ ARG

3. % YN YRy

4. % Ydd-q

Question Number : 194 Question Id : 9277594011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of this is not a auxiliary discipline of Hinduism ?
Options :

1. % Shiksha

2. % Vyakrana

3. # Jyotisha

4. ¥ Nakshatra

Question Number : 194 Question Id : 9277594011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 A B feg v &1 Jerus fawa (3w fefifer) T8 32
Options :

1. % feram

2. % H[hUT

3. % Sifdy

4. ¢ A&

Question Number : 195 Question Id : 9277594012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A study from which year showed that, men and women differ in their types of interdependence?
Options :

1. % 1997

2. % 1897

3.9 1999

4. % 1980

Question Number : 195 Question Id : 9277594012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore af & 1T § U1 9 § o, TR SR AfANS Su= SIi=asadl YR & fid 82

Options :



1. % 1997
2. % 1897
3.9 1999
4. % 1980

Question Number : 196 Question Id : 9277594013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To create an environment of equality, the teacher should not

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. maintain the body language in such biased manner

2. ensure discipline in class and avoid any situations, which may insult or disturb the pupils based on their gender
3. give different opportunities to boy and girls to participate in the class

4. use gender neutral language

Question Number : 196 Question Id : 9277594013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT BT ARl §H o oG, RIegd &l 81 &1 a1e
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. 39 ORE o &I d-idh ¥ 8Ta-HTd HTHT §TC X

2. BT H SR AT B SR Tt foeft off fRufar O &, o1t faenffal 1 Sih o & SR WR SIaHTid a1 TR &R gt §
3. TSP 3R TSB! D H&m H U A1 & T ITHT-3eT TR ST

4. o1 Je=y YIS &7 T 3



Question Number : 197 Question Id : 9277594014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Communicative Lessons are not

Options :

1. #® Contextualised
2. ® Learner-Centred
3. # Authentic

4. % Grammatical

Question Number : 197 Question Id : 9277594014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SEIRe R

Options :

1. ® URifi

2. % fRremdf dfed

3. % JYUHUA

4.« HTBRIVH

Question Number : 198 Question Id : 9277594015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is simulation based training?
Options :

1. ¥ Is additional services available online for those who wish to receive
training above and beyond that which is offered by their employers

2. ¥ Is another method which uses technology to assist in trainee development.
3. # Is method which include how to use a variety of weapons, outdoor survival skills.

4. % s the purification of the mind, heart, understanding and actions to obtain a variety of spiritual goals.

Question Number : 198 Question Id : 9277594015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ieto (R smetia ufRieror & g2

Options :

], ® ?T%%rgﬁaﬂﬁa’r'qw@ﬁé?maﬁmsd 3Uds § Sl 3o faiaarsii gRT < S areht uiRiemr § SR SR I T uirefor v
AT

2. ¢ U 3G 11 § ot UiRTe] fasr & qeradt & forg Uieifiie! o1 ST srar g |

3. % U fafy § fored fafie UerR & ARl &1 SUTINT o ST, S8t STReiiddl I=Id QM g

4. % 7 fafid sreafdres Al &1 U & o ol 14, §ad, TH SR Sl &1 S 8

Question Number : 199 Question Id : 9277594016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the main process that takes place in assessment for learning?

Options :

1. ¥ The teacher provides feedback to each student about how to improve their learning
2. # Questioning students what level they are at.

3. % Students depending on teachers to assess and evaluate them.

4. ® Formative assessment

Question Number : 199 Question Id : 9277594016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & e Snrpa & 811 aTel YReg Ufehdr 14 4t 82

Options :

1. ¢ RIe® TS B I 37 SHUTH & GUR A & Rl & aR H UfAlohal UaH &=l o
2. % T A UY BT d g TR R G

3. % B Sl 30 3THa 3R Jedidh /g &l R AR wd g

4. % IS Ten

Question Number : 200 Question Id : 9277594017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The individual who has unique traits and characteristics is called
Options :

1. ¥ Odd individual

2. ¥ Exceptional individual

3. % Special individual
4. ® Disabled individual

Question Number : 200 Question Id : 9277594017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore safaa o sifedia demr ok ARV gt 8, 38 FeTSnar g
Options :

1. % 3SlS (31S) Afad

2. ¥ SATYRU e

3. % fa=iy i

4. % fqepaliT Ao



